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SECTION — I
oTqog - |
CHILD DEVELOPMENT AND PEDAGOGY
a1 forepra we framemes

There are 30 questions in all in this section.
All questions are compulsory.
39 @US T FA 30 9 B |
vt wom arfam 2 |

A group creativity method for solving specific problem by gathering a list of ideas
spontaneously is known as -

(A) Brain storming strategy (B) Mastery learning strategy

(C) Problem solving strategy (D) Heuristic strategy

Tafiieren @ fomm <t gt & v < g fafire Toen = amam it ayg A fafy 5
EREIG IR

(A) uftass fawra gfw (B) Tanfirea sifirm gfw

(C) Hwen FMYM I (D) 3= e

Which process is NOT directly related to role of motivation in classroom learning ?
(A) Knowledge of progress and result (B) Interpersonal adjustment

(C) Praise and criticism (D) Level of aspiration

et 3l 3 rfirsro At yfver fora wfien @ seaw w0 @ wrafua T2
(A) SR T 9ioT %1 JH (B) FFoicha AU

(C) WISTET QAT FTAr=-T (D) AT &L

Concept Mapping in Education was introduced by whom ?

(A) Carl Jung (B) Martin E. Seligman

(C) Noam J. Chomsky (D) Joseph D. Novak Qﬁ?
foren & araremoon arfasor fRwehs gro genfaa feam w2 O
(A) I (B) wifeq 3. wfcam

(OEELER = (D) Ew . TrEmh

Which type of teaching is NOT based upon objectives of teaching ?

(A) Cognitive teaching (B} Descriptive teaching

(C) Affective teaching (D) Psychomotor teaching

FEreaon =h1 <19 1 TepR Fean <5 Sevdl T SnwTiE @ 8 7

(A) EHHTH fneor (B) aviHTeHeh figm

(C) HrETeH f3reqo (D)  HATTeETeH fSreor
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Who has NOT contributed to the development of Action Research in Education ?

(A) Kurt Lewin (B) B.R. Buckinghum
(C) Stephen M. Covey (D) Stephen M. Corey
Tven 4 frnewes aa™ % fasm A fha Amem 78 fen 2

(A) e elfem (B) .3, afram
(C) W% TH. Hid (D) %A UH. B

Which level of measurement 1s least used in educational psychology ?

(A) Ordinal scale (B} Nominal scale

(C) Ratio scale (D) Equal interval scale

foren wetferma # fomm w36 wA 61 =AW s feRen ST B 7

(A) Hug=S AT (B) =ik Tt

(C) TruTferes AT (D) THH = A= Eﬁ%
[EFE

Which is the main philosophy of National Curriculum Framework — 2005 ?
(A) Learning vocational skills (B) Learning without burden

(C) Leaming co-curricular activities (D) Continuous and overall evaluation

T TGl ERE1-2005 H1 G e9H F 8 7
(A) AT Fuear FHEHT (B) o @itz < i@
(C) we-Nefe nfafaftei w1 dem (D) dad vag SA9S Yedied

Which statement is NOT true for Right to Education Act — 2009 ?

(A) Free and compulsory education for every child between 6 to 14 years.
(B) Provision of School Management Committee.

(C) Constitution of National Commission for Elementary Education.

(D)  Minimum 60 hours of work per week for a teacher.

fren =1 arferesr stfafem-2009 % fod 1 a1 e w3 2 7
(A) ®: 8 =g 99 o Yedsh dicteh & fordl F:vpeeh 7 fard faren
(B) Teramer™ waws aiafa o1 graa™

(C) wufss foven % fora wdfa s 1 e

(D) FeaTaeh 5 fordl Ui THTE <[ 60 =St T 1
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The observable physical and psychological characteristics of an individual is termed as

(A) Prototype (B) Karyotype

(C) Phenotype (D) Genotype

U A i fe@rs ¢ arelt g qur ot fawwmsti % w0 4§ afonfya e
S |

(A) Sierersd (B) HRARTEY

(C) HHRRY (D) ATz

According to which perspective, child development reflects a specific and prearranged
scheme within the body ?

(A) Environmental (B) Social

(C) Biological (D) Psychological

for aftien & sgam a1 fasm writ & 21t u fafsre qen qeeraferm vt i g 2 ¢
(A) dTAEE (B) wmMHIfIH E50

(C) i (D) TR i

Which of the following psychologists i1s NOT related to theories of child development ?

(A) Jean Piaget (B) Abraham Maslow
(C) Albert Bandura (D) Lev Vygotsky
ot TR & i et e 3 gt @ w7 & 7
(A) S foms (B) 3siTEH Areedl

(C) 3Fese w0 (D) o4 ariTehl

Which method is NOT valid to study the role of heredity ?

(A) Twin study (B) Parent-Child analysis
(C) Adoption study (D) Peer group study
ST 61 i % v % ferd e o fafa Qu a2 ¢

(A) =ai a=di H1 A (B) fivras-ares faveam
(C) <xish-UgU AT (D) HU9ETED GYg AT
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Whe has NOT propounded any theory of personality 7

(A) B.F. Skinner (B) Sigmund Freud

(C) Gordon Allport (D) Ramond B. Cattell

fore safvrea % feret ofi fargr=a =1 wforfem =& fema 2 2

(A) ot.uh. @hA (B) fammug wrreg

(C) TS 3TTetare (D) g, e

Which test was created by Henry A. Murray and Christiana D. Morgan ?
(A) Sentence Completion Test (B) Sixteen Personality Factors
(C) Thematic Apperception Test (D) Picture Frustration Test
0 . gt qun ferfeeam €. g gra 9w whe ffifa fen mn 2

(A) @ gfd whem (B) HicTg sAfthed 3T

(C) YT AIcAEIT Titer (D) Toa Fvar aiteor

Which factor is NOT related to growth of a child ?

(A) Nutrition (B} Health ®Em
(C) Sleep (D) Domicile Eﬁ?
T STersh i Jhg & i H1 HHH Hraf-od T 2 7

(A) T (B) @A

(C) F= (D) A

Which dimension of development is influenced by the theories of Noam Chomsky ?
(A) Language development (B) Moral development

(C) Emotional development (D) Cognitive development

faera =1 6 1 31w i 9iaehl % gl | yafaa gan @

(A) T faepma (B) Hfas fawm

(C) w@afires fawm (D) AFHTHS fawm

Individual differences in temperament are basically

(A) Learned (B) Innate
(C) Acquired (D) Cultural
ware # safeea fafiaamd snam@ s a . @t d
(A) ferfaa (B) S=aITd
(C) fundia (D) Gl
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18,

19.

20,

22,

(N
Creativity is associated with which kind of thinking ?
(A) Overthinking (B) Meta thinking
(C) Reflective thinking (D) Divergent thinking
T = % i S YR G gt 8 7
(A) et famam (B) afa-Ta=
(C) Tt famm (D) IR} fa=
The term mental retardation is replaced with which term ?
(A) Intellectual disability (B) Mental weakness
(C) Intellectual backwardness (D) Intellectual disadvantage
arafies faufza e 1 fra e % wmy yfaeenfoa feama 2 7
(A) difgeh I (B) HHfh HASH
(C) g fwemm (D) sifgeh gfeegerar
Which of the following is NOT true for the theoretical concept of personality ?
(A) Stable (B) Normal
(C) Enduring (D) Unique -
St bl gt araemon < fordl Fe 3 & i & aea 74 2 7 =i
(A) Ter (B) wmE=
(C) wardt (D) 3
Which test is culture-free Non-verbal test of Intelligence ?
(A) Group test of Intelligence (B) Weschler Adult Intelligence Scale
(C) Bhatia Battery (D) Standard Progressive Matrices
I T G G gH 1 TERid-qeh A-arfae wlem 2 7
(A) Sfgman w1 ayg wle (B) SR orreeh gfgmm aret
(C) wife dd (D) wvgE U tfems
Which intelligence is NOT included in Gardner’s theory of multiple intelligences ?
(A) Intrapersonal (B) Naturalistic
(C) Emotional (D) Existential
Fgamrt glgmmaii % M fagra d o f gfgmm afmfra i g
(A) . dafws (B) i
(C) Wi (D)  fGeasrl
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Which of the following is a behavioural symptom of maladjustment ?

(A) Aggression (B) Anxiety
(C) Insecurity (D) Apathy
e 3§ 9 o1 FHAEISA 1 TSR a0 R 7

(A) HTHTHEAT (B) fa=m
(C) ygtam (D) I

Which method is NOT directly related to children with special needs ?

(A) Diversity of curriculum

(By Development of sports and extra curricular activities

(C) Different teaching methods

(D) Traiming for special activities

fergry sTrarzrepATaT aTct AT % W H i fafy yore w @ ot A 2 v
(A) a1 fafirsfem

(B) WdAHe d Afich My Tiarareri 1 fame E5E
(C)  Tor foreqor ferferat Eﬁé’
(D) Terem nfafafer < fora wfrem

Learning disability related to reading is termed as
(A) Dyscalculia (B) Dyslexia
(C) Dysgraphia (D) Dysthymia
Ted § g At Hema S S g |

(A) ferpagpfen (B) feifaaar
(C) feaifem (D) fewemsfirn

Children who are deprived of minimum basic facilities are classified as

(A) Delinquent children (B) Special children

(C) Disadvantaged children (D) Backward children
= SURE glawnat & dfaa areent Fi e e 1 e fma g
(A) 3T "reTh (B) Taf¥me st

(C) widga Tifeafars IS (D) fr=s 9
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27,

28.

29.

9)
The concept of reward and punishment in leamning is introduced by whom ?
(A) E.L. Thorndike (B) Kohler & Kottka
(C) B.F. Skinner (D) Albert Bandura

Hferm § qehR 9 gug it sraumon forees g e R g g v
(A) %.UCl. UHEES (B) <hIgeR o FHiTHI
(C) LU, Whi (D) 3Hewe qgU

Which statement is NOT true for the concept of learning ?
(A) Learning is the change in behaviour.

(B) There is a relatively permanent difference.

(C) Leamning is influenced by practice.

(D) Learning is an innate mechanism.

At <hi o < o S | HuA v 78 8 7

(A) e sgagr W uftadd 2 |

(B) 3TeTsha ¥4 & eyt It uferfas g @ | Eﬁ?
(C) iferm s Zr wwnfaa g € | mE
(D) M U S=9=Ta SR 2 |

Classical conditioning theory propounded by Ivan Pavlov explains learning by

(A) reinforcement (B) association
(C) imitation (D) insight

s digera g1 Sfaafen wmefia sqe- fagra aifum =6t fm & g amgman 2
(A) gAdeH (B) g
(©) rFm (D) 3fe

Which of the following is NOT a process of learning for children ?

(A) Reflection (B) Argument
(C) Maturity (D) Imagination
11 5 @ 1 ot srereni < ford srfermm <6 afsren =i 2 7

(A) wfafera (B) @h

(C) wftaeran (D) oAl
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g - 11
9T — |
T
9 @Us H o1 30 I ¢ |
aft w7 arfrer 2 |
31, W U UIATH S ITiteh €1 H wftfera aw 4& & -
(A) W (B) e mrmufi
() faer (D) ¥eft
32. fTrafafea g oy g F A SR @R 7
(A) e fnem § ufd (B) w@&Team o fore araem

(€) fpea(A)wE (B)SHiEdE | (D) 3 A HE T
33, 37 @ g whensti w1 g -
(A) U fner vk an 1 U & B i Wi & Tt 2, 316: 56 s e g |
(B) Wi qtiznn3ii 1 awqf T& s S wehi |
(C) & udianaii & feramefi & &9 arwrft sived — g9, 9eq 3R dieH %1t a1y w9 fan
AT YAl 2 |
(D) T Thean d forameff % TrgA HIva &1 A19H TE L HHd 8 |
34, Fafafiea § @ swafa wew F fofv g affmm @i dasn e iz ¢

(A) T A €9 | (B) Teqor o TRf¥es ¥9 bl A1 HET |
(C)  Tteror shr gAfemr (D) TV T T mE
35, Hdd Ud ST Gedish- YITell &1 g 2 : mHT

(A) 39 AT § gH arelt wlien (2xe) | formeff @t o sremasfia @ 8 |

(B) Tneres Teremeff 1 smrawres fréom v wopst it i A & |

(C) Tammeff =1 19 =i 1 97 PR g @ 2 |

(D) fereneff w o s wien 1 w1 7 w@en 7, Fowm swem wmanfoss foem gwfaa g @ o

Frferfiga e o 3aaT 9T UvE SE@ 36 9 45 A & I e

A T 9 e S 9 3T Bl 8 91 dEe W U 3R 9 6l 0, ey %
ATE, ¥¢ Bl 1 AuHei FA Hl Fdeis R ABLET & A 1 gad @l @ dt gad 3R
TEHTHHdT oh1 g1 @l & | foa1 tftes a8 Tt g, 31 & sifuss 98 s g i w1 Ifcty
T ZU T, T 3t &t ATk Gl Rt | $8eh TR Tg T U o1d I8 Wi saer =riae o s
AR faar #t gafea sum, 99 98 sravs T8 @ T 9ya @ e 30 @ i d
St fo6 = @ g i wE ° wfcud A 78 ot | s a7 2 6 wefed g A ufe § f 3w w
< 1 gard i A | 319 T8 <ard I FohaAr 3R HH aee IR, q@ WH fau 9 w1 HE
TeF T B | 78 A = F e & T S B 6 o w@n e R | W | westa o vn ffared
T&d 8, 3R 390 tdt saeEnd it 2t 8, f5eh afd w9 =R o @1 &, 38 e Ad! | 78 A
%zl A1 2 T tmn 18 frem 78 2 o6 = 9@ 3 371 & ot foran orees I TR R, 98 59 W
1 JAfere oft G Gehdl 2 AR Ffi-Har faudia ot dic dehdl 2, 3961 189 781 2 | IH T 5
21 39 2l <hl THATHT W 9l 379 THTE SIEAd1 & | Gerdl |1 had & (o “Toraa g, fethigen ug”
98 92 & | TP Gotsh <hl IEE 381 o & are oft, disy dredt & e & qad’ dene i sfiwor
TSl AR T T |
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36.

37.

38,

39.

4['.

41,

42,

43,

44,

45,

(11)
‘Tl IIeg It % IMUR W E —

(A) deHs (B) dcHd

(C) et (D) <o
‘GaTRt’ 1 UFTFETH] e B —

(A) A (B) 941

(C) ST (D) H&"

“Toraehl g1 & 9 H 4Id g3 &1 | A1 % foTe Ie ITeg § —
(A) ugd (B) =IHTd

(C) welfea (D) @em

‘ST WTeG 1 T ¥7eg S o foTu IR B 39w e 8
(A) & (B) 3H

(C) (D) 3H

‘A g § WY T 8 —

(A) (B)

(C) %% (D) fo=
‘Fifeaed’ wreg o wfur g -

(A) FUHEY (B) < mfy

(C) T Efy (D) gfg gfa
frafafiad wedi 4 @ s & 2

(A) Aty (B) w4

€) (D) T

‘HIHR ITeq H S HI @HIE B 7

(A) FeTEt-uTa aHTE (B) dcqHY 9HIH
(C) ZE ™ (D) fomy v

‘oR’ vIee W WM & —

(A) Taraaares aeAm (B) TeEUSTES He A
(C) Frsares wem (D) v gdam
AW TR SR E TR 7

(A) cafadaras U (B) Shifcardass g
(C) a&gar=s Tl (D) HTEarE® g3
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46,

47.

48.

49,

50.
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frferfiga memer % IR W 9T T 46 § 51 T b YT < I AU ;

TYT, O, AR TR &1 1 WIEAT 1 U Y <ot & Hehviar ° S=1 o Hebel 8 | Weft
FS TP 1 8 A UY A 2 Fifeh 37 Aol Feshi =1 1fed Ty & S € ava 2 | Ty 2 i fafm=
amrd &, o &, U 8 3R anfaat €, 3ra: vp % fea ¥ e v wwenai @ srcfus g @
<1 =1faw | arfee g a8 e Jud 8 it orfgen o gedl i aun w5 famredt 8
ag =afea i fafi= i 1 fawnfaa =& s | sfaa F oo’ 3 el 29 6 il 2, 9=
wfaan a1 aifgea 1 3= faenan grr et 1 J1merft & St < wehar @ | 98 % any off g3n
2 T 351 A 99a w1+ fe@rs & <ar | Fen AR T 1 IR i TeR-vEr g
=ifew | wevmT Sfa-gier, dare, Gfiar o s=t-awian & g = 2o § R geuE
3T T T AR ST SRR 3 | TEER, -1t e, gted, feen anfe mem
7g 1 R & 3 3R IR oft v T B | et g v e’ sfides e safda 6 argmfora
AT 8 U1 TP & Ufd 6 H<dad 84 o feu Sia a1 2 | 36 YR % T Al Frda-s
Ty, afec G i at R UY I gH Tehal & g3 H 919 Fhd © |

“snfaat’ wree w1 Usha=H B

(A) St (B) Hr

(C) STt (D) S

feamadt’ sreg w1 319 B @%’?
(A) wfen (B) q&et =
(C) Tz (D) 3mafea

IR IR M TS W' IR A PTARAL 7

(A) EWTe Ta9H (B) 3MsnY ga9™

(C) oi gduH (D) WE 9q9H
‘faur s 2 -

(A) Il (B) gfeem

(C) TgEhier (D) ftfem

‘safdd’ 1sg 1 Sga=d Y &N

(A) =Afaddsh (B) =af¥aca

(C) =AfFaa (D) <afads

TSI & 98T I1ec T HHH @<l ®02 ;

(A) W™ (B) 9m§1

(C) wmEm (D) @l
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53.

54.

55.

56.

57.

58.

59,

60,

(13)
19 = 31 8

(A) IEw (B) fadm

(©) FFmA) wE@ el (D) FEIARETH

ST e e 3gava Ud e fadg & 541 8, 98 wEer 8

(A) THTEHTYH T (B) znfea Ivame

(C) Hepardes I9aTe (D) WU IuaTE i
It SWTET YETa H 31 3 [
(A) IR (B) fowert wgaa w=

(C) T =Rt (D) ©IH W&

“Aist-meft # Sfteq feraman & 31ef § Suge aipifa 2

(A) A T@ WA 96 (B) A9 A IR IaT

(C) 313 FAITS Al e (D) 13 IR A1 ARR

faenf¥f=i =1 gl & wream & w1 h1 ge w@iEi v fafy w1 A s 3% e e &
Hivret 1 zey Fopan s & | 3w fafer =61 o e B

(A) ATHT SETTTen fafy (B) e " fafy
(C) "Tga - fafy (D) @« fafy
Sleed YUTTel =61 3nfashi fepad T 7

(A) Terertfess 3 (B) Eeedd

(C) HTUeH (D) ThEE |

& 3T % AR e <At Bt wizeen 4 wftrfea e 2

(A)  HT=ITERTT (B) SATHETIER YA
(C) SRt (D) =IEER ufEdd

et eI hi YT Id F1 8 7

(A) e forga o= freres foemeff 6t gama 7 1 |
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SECTION - 11
LANGUAGE -1
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

31.  Students improve their critical thinking in

(A) peer assessment (B) portfolio

(C) cloze test (D) writing tests
32, CCEis carried out in classroom.

(A) strictly (B) formally E%E

(C) informally (D) timely Eﬁ#
33. CCE is not successful in

(A) private schools (B) crowded classrooms

(C) small classrooms (D) government schools

34. Fora good test in English
(A) language must be lucid and clear (B) the text-books must not be used
(C) the questions must be complex (D) the questions must be simple

35. “Matching Test’ is an example of
(A) Short answer type (B) Long answer type
(C) Essay type (D) Objective type

Read the passage and answer the questions (Q. Nos. 36 to 40) that follow :

A marriage as ¢arly as that was the last thing on her mind. She threatened her parents
that she would never marry if she did not get a proper education. She left home and got
herself enrolled in a school in Delhi. When her parents refused to pay for her education, she
politely informed them of her plans to earn money by working part-time to pay her school
fees. Her parents then agreed to pay for her education.

36. The synonym of ‘refused’ is

(A) granted (B) demed
(C) permitted (D) allowed
37. The antonym of “politely’ 1s
(A) courteously (B) humbly
(C) rashly (D) angry
38. The correct spelling is
(A) acadimision (B) academician
(C) acedamician (D) academision

39. The verb form of “enrolled’ 18
(A) enrol (B) enroll
(C) enrollment (D) enrolment

40. ‘Part-time’ stands for
(A) working less than standard hours (B) working in parts
(C) working in obligation (D) working for no remuneration
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Read the passage carefully and answer the questions (Q. Nos. 41 to 45) that follow :
Friends had conjectured that the bear would not recognise her. I had thought so too.
But while she was yet some yards away from his cage, Baba saw her and recognised her.
He howled with happiness. She ran up to him and petted him through the bars, and he stood
on his head in delight.

41. “He howled with happiness.” The underlined verb is in tense.
(A) Present Simple (B) Present Perfect
(C) Past Simple (D) Past Perfect

42, She ran up to him and petted him through the bars. The underlined word is —
(A) interjection (B) conjunction
(C) adverb (D) preposition

43. Choose the conjunction :
(A) her (B) within
(C) the (D} but

44, The determiner is E%?
(A) and (B) had o
(C) the (D) wp

45. Choose the correct comparative degree of *happy’
(A) Thappier (B) happiest
(C) more happy (D) most happy

46. Choose the right question for
She sold all the articles for no profit.
(A) Dad she sell all the articles for no profit ?
(B) Did she sold all the articles for no profit ?
(C) Does she sell all the articles for no profit ?
(D) Do she sells all the articles for no profit ?

47. Choose the active voice of
Saina had been supported by her maternal aunt.
(A) Saina supported her maternal aunt,
(B} Saina’s maternal aunt supported Saina.
(C) Saina’s maternal aunt had supported Saina.
(D) Saina’s maternal aunt had been supported by Saina.

48. The saint chanted, “God is great.” The indirect speech of this sentence is
(A) The saint said that God is great.  (B) The saint told that God was great.
(C) The saint said why God 1s great. (D) The saint said whether God is great.

49, The word for the phonetic transcription / 1'mi:dratli / is
(A) emidiately (B) immediately
(C) imitate (D) immediate
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“The knowledge can be stored in mind permanently.” This principle is termed as

(16)
The number of vowel sounds is
(A) 8 (B)
(C) 20 (D)
(A) Aptitude (B)
(C) Concreteness (D)

12
24

Gradation
Selection

Words that are understood and constantly used form

(A) limited vocabulary (B)
(C) passive vocabulary (D)
Dr. West’s comprehension test was

(A) non-linguistic (B)
(C) comprehensive (D)

Variables can be interchanged in
(A) Simple substitution (B)
(C) Grammar (D)

‘New words at early stages should refer to objects and actions which can be shown and

active vocabulary
constant vocabulary

linguistic ®5

structural Eﬁi’?

Compound substitution
Phrases

demonstrated in the classroom” 1s a precaution of

(A) Structural Approach (B) Situational Approach
(C) Bilingual Method (D) Direct Method
The exercise of listening skill is
(A) Sports commentary on a radio (B) Advertisement board
(C) Pamphlet (D) Poster
Which one of the following is a measure to improve bad handwriting ?
(A) Use of ball pens (B) Wrong habits
(C) Proper posture (D)  Writing carelessly
18 not a technical characteristics of a text book.
(A) Proper spacing and margins (B) Good quality white paper
(C) Lengthy texts (D) Readable size of the letters
‘Blackboard” is the aids for teaching.
(A) technical (B) cheapest
(C) modern (D) physical
Audio-Visual aids save
(A) money (B) interest
(C) effort (D) wverbal input

https://www.pygonline.com


https://www.pyqonline.com/

PL-

33,

34,

35.

(17) C
Qg — |1
Nl -1
1= ey =
e ST GUIERT: |
. TEhAfEE At T -

(A) 3naEe fagr: (B) Teramsfierarn: fagma:
(C) ¥ Tagra: (D) forgirgen fergr:
TfaY: yom gy a1fe —
(A) Figom (B) 3gr@tom
(C) fam: (D) ey
HIYTET: Sy sivemfa -
(A) ©iEaq (B) H€mH
(C) 4= (D) 931
adaaeaTg ferens g foom wafd ¢
(A) TEHATSHCEH (B) STsOH
(C) FavHq (D) Higq
‘gAY ugTel seatar faeht wafad g -
(A) g (B) TP
(C) ©Eyq (D) &

frferfiaay smfsd marem snurfisear oAt (36-40) Furen: —

T WRE AT @i | e W R faarer am amferrs: faosm | gfad T g
TAYH: TEHATTH Faf | 9 SRV TEHEIE U SAEHN A1 §EY 3 | 3 e
g Tanfufesrre: 31f wanfea: S | 31: 9 Og dical vg uad <oy 3UTea | 3T T
Wferarfoes sitriiferss amnfes = ficd ada | wea: died g srariar |
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36. “HEHEIA” Toad ol favfe: ?

(A) SuHl (B) gt
(C) (D) ®eaH] A0
=gl e

37, Tt soua ata-fasee: S |

(A) T + FARES: (B) T + At

(C) M + fer=: (D) FH + AT
38, “faed” scaa & ARG 7

(A) e ABR: (B) ¢ AHN:

(C) g i (D) Tafufag @sr:

39, “gaifaa:” 399 & T 7
(A) e (B) &%
(C) = (D) &9

40. “gaqfa:” 3o F: T
(A) fFdvra: (B) degHu:
(C) giife: (D) fa;

frfafiaan smafed memm snurise Fafgar: g (41-45) FamaEn: -

e gy SueweR | gengl weimrdtame: iy e g afa |
Fqe, wfer darald adrenng: afel q adu ardae wfy 2 gfd desragerreafa | i a6
Fforep1: AT TeATITEIEH, UREERd, iRl frd ggad TEaeRed THEETEH 9 fdad
qrat | favaferenan smorfamrienmmm - vemore wfiae Sarersermf Seerssas gy
At |
41, “T9¢" 3o o1 fawfad: 7

(A) wHt (B) Tt
(C) wum (D) oeHt

42, “wvaf=" s gl -

(A) 39 (B) 334
(C) w9y (D) 9
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43, “ggH TeaheEn 3 T sid Ry 7

44,

45,

46.

47.

48,

49.

50.

51.

(A) Tasmor (B) fosrem
(C) =TIy (D) HgEsH
(A) gy (B) AqHhicrgy
(C) witfergy (D) Iwafergy
‘ST’ 3 T@iigaue &: |t 7

(A) TorEf: (B) drdafy:
(C) vre: (D) gfaufir
st Jieh 93fd | 3 tanfgaue fafuforgemmmed wafd -
(A) w3 (B) 93d

(C) 39ed (D) ufssata
“quurafe:” gf TEpd e HEATd YYEY ¢

(A) 85 (B) 96 e
(C) 78 (D) 65 ©
‘S’ gl avies sERYE feg ¢

(A) &= (B) 3itHl

(C) arg (D) i
areiiferfigay eiga: avf: &: 7

(A) 9 (B)y =

(C) 4 D) 9

3T werfed —

(A) AN (B) T&I:

(C) FTEL: (D) Hrad:

“Trgafd % =y T T N A A FEHAATE HEd —

(A) U T HAIfe: 373 TMaar |
(B) Tgdfay g HATI(d: ST |
(C) TrggfaaT w2 wamafa: mEmEEm |
(D) TPUdd | HAMIT: AT |
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38.
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(20)

Tt TeAtihea i g

oy e et |
(A) foer e geafa | (B) T s e |
(C) firan &% peafa | (D) T &6 peafa |
TR =g I TSR T |
(A) HI TZ: T (B) 54T I: g9Id
(C) W =g: 79t (D) T S AT
T TTFT AW 97 Qe U8 HIEa |
(A) 749 (B) N
(C) -dmamy (D)
[EERIN G | fraeamM qfd $%4 |
(A) AArTesfa (B) d Eﬁ?
(C) Tesfd (D) wifd Y
“AEFeIeIu SR 3 v falim wieatd ¢
(A) wmrErfafing (B) aAmmAfrmAfafiy
(C) wenefafen (D) aTatearate
(A) ToreorgEg (B) dTSATSHT
(C) ienma: (D) ARTROT
HEpaTIeshET Y Hfa Hreent ¢
(A) 38l (B) deaTi
(C) w4 (D) &

HEpafered S|y &: afenfm: ¢

(A) WATHIE: (B) #rAfEy

(C) fdfd: (D) wafi-wfiena:;
HeATEAR YT NiATery SIeehToieen: g %7 A ?
(A) feafgariemm (B) HifEsradiermm
(C) wrEnfirerdtaramy (D)  TEAdtaIRETY
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1963 £ 1 (B)

1960 ;b (D)
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GEG sl ey gt L
25 e e (A)

2GS (C)

¢ y;gubr‘/.u! ..'..f% e e JE K...,Cr_“l ya
1964 bt (A)
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$e1 30 garer nfet
TS gITe 0T TEG Sfee |
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(C) ya+ fearet &t fHfumi & Furdt 575 w9 | O
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(C) Hfu fffimr (D) fouz i
(36-41) JE g Ug Fug A AT B 49336 341 T 0§39 e :

H3T T HEY T 195 8 gu HEg J | I8 BHT, A nE o O SR U3 I gfg3 de 95 1 959 3
o0 fes v dr gt o i I rae J | Toa R S agt s SF ga Sa wgt w e g | fils
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(A) «H (B) widaHt
(C) =9H (D) fi<ht
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‘F&3” o fegdftgee I -
(A) yar (B) w3 G
(C) Iaz (D) SHB
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(A) 3 (B) wiggw
(C) HAewd (D) HABAT

‘TG FEE T HPHITS HEE B T

(A) wrer (B) arfoer

(C) fAgdsaa (D) TaG&

‘oM HET TTAHGIEA e J

(A) Sugz, afirg (B) dor-=Hlw, 83
(C) aHT, Quas (D) afiw, samar
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T AR I8 | wifad fefenrad! 39 & Jg 9n € T w3 gfmra fefonradin ervara €382 95 1 o
2IITT Afd AH BEt daraT &1 I=ar |

42,

43,

fonas Fee T nige I ;
(A) feamg (B) W™
(C) H&HAST (D) a3
WITHT HEE 2T MIg J
(A) I35 (B) gH'E
(C) gdtvat (D) fagdt
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(A) 99 (B) iw
(C) wd (D) wifis
“fog 293797 Afenid AHH SE1 99137 &1 J=9r |” — T &7 % RUHAZ 99 :
(A) FRATS (B) F3a3
(C) =RIIHGAB (D) fHafIs s
‘HHST 34 3 981, &7 481 &7 sl
Y= T HA WEE T
(A) 7o ggd fower Jar RIS A dar 32 |
(B) weugdt foyeradlsgde e 32 | mEE
(C) woad farggdtfeye 3Ty y A< | [ofia
(D) o TIdl foueT 95T IG5 BT 9L |

fHIa3 998 T8 WY 2338t yg 9 ft 7wt I | 39 199 e WU 23T T JasT €T iy

Jd:

(A) &S U aga
(C) WIS H3Hd AH II&"

(B) 573 & nigm § faas are
(D) FEEITIUT AT

‘W fuzrfinim iz aw a5 1 — T 39 fetm 9& .

(A)

(C) fuzrHftfizae

Ha fuzr

(BY W fuzt+Ht
(D) »Hffz3ar s |

Tq {39 a5 -qua wig <t ghiar feg @t 7

(A) Hfea fafanr (B) HIad fafanr
(C) Wy fafanr (D) T fafanr
(A) H (B) ®
)y = (D) T

oI 2 o1 99 3 g fadh wrsar S as 2

(A)
(C)

Tt &8 uBHe dd, IHT It Wit widT 2 2 ggae wigg, fJat & fag mmaT |

14+ 10
14+8

(B 16+12
(D) 14+12

Saz Azet feg faog andyassTd 2

(A)
(C)

dod gH
CER

(B) fdaraan
(D) Sd<TIH

https://www.pygonline.com


https://www.pyqonline.com/

53.

4.

55.

36.

57.

38,

59.

60.

(32)
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(C) dgan (D)
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(C) drfed (D)
It Fgar dar J o,
76 299 7% Hafadt |
ECEECICATAER I C s i,
(A) Suwr (B)
(C) femes (D)
HeusTRIIEHT T
(A) B99s & Fuas <9 Aorfex (B)
(C) fegmarasr du= €9 AaTfed (D)
Jaft s wrogr SeT s T aE A I :
(A) fawes
(B) Wd waAd 8T

(C) yF=YGT sel Aridf3a g &t 981 293
(D) HIT=EFT

sSfonft 129 faye a7 i@z s Adfus feft 7 .

(A) E5= O nre Ot fedt (B)
(C) Tu3-Ufrs dtarear fedt (D)
TS anS ¥ feam ot 39 &t fafanr 7

(A) Hesfaas (B)
(C) THS (D)
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B3 IH
H3fax
wrefad
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=T
HEY™H
qud
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g fieG= ferft
wUHl diBE3
5 fous

FHT fHftpHT € B39, ‘Ugs IviA <5 dt Beges 9

(A)
(B)
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Seads Iufgga ver o faae |
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%ﬁ% &35 UHAL el AL 53 (A 8,

31, HIlns sAEL g1z el s slaiead Heuis |l 3w 2ld e 9
(A) #dQl (B) iz
(C) su- (D) et

32, ARl 53 2439 Alnd Al el ¢

(A)  tdale (B) [Aotu
(C) [auz-lAwar (D) 2106 2l
33, ([eueHl alha el usirell sz ARl su szl AL @ BBl v 5 9
(A)  osslasdl (B)  otgdsen
(C) 251 Gz UsIR (D) [ota usik

34, o[zl 2L s3cl avied ARl s ousta-l AHEL AL A2 7

(A) (MR IS IR (B) s, MHIGL ABIMIR

(C) [zl GHz WAIsLpIeR (D) WH USIR UHIEL ARIGIR
35, ARl s A s Rae unadad yes ad w5 © 7

(A)  ld Hlédlvets (B) za¥glis-

(C) uzuael (D)  Hesld

2ATIE AZUANAL A WA 5415 36 2L 38 el vallol 2L :
sl Al W A gy sndidl ovel, du gy 29 suenula 2adl ol sl zu e

s Gui 5, sz dilEuAnl vt Y2 El st AL dedl d TSI AR AHsAUOL oAzl 21 9 Ild
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D51 @llEl AL 4o AR 2 AL A HOAAHE, SHRAL AREAL SRAMLS 214 51 510
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(A) sl (B) sl i
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=

A - Tt

(D) uA, Szl 2ARMEAL 245

2AME Al A1 lls 53 wandl s ¢
(A)  HAsicil uba (B) AdetiAl 1l
(C) st uBa (D) &AL Ul

{l2rAL MELLLUAL AR WHEHIS 39 2L 40 24xlAL valot 2404 :
22l Al 7% ol 23l 5% vl
2ULSL AR Hs e HAHL ML el |
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(61g el ol iy 2L vt !
5161 58] 5 el @12 1L velAL |
glaell Badl = s =L vl
HAHL [z 355 7 vl 58 alus 9,
s AL L WARL veliAL
245 DUCHOAUL PHIZ, §: A Hist €L 8,
€% B ARl 2151 =L vl

52 565 et Vet et el s 265 6 9

(A) 25 -5l [Ligui gedla (B) [Azumn uugHl ol
(C)  ollonl Wl el (D) MettAl & Ml Het udA.

s[A g Ml gL 8 2616 ¢
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42, “GI(ES" LoEHL HOL A0EA 56 A GBLAL S 7
(A) s (B) ¢
(C) =8 (D) [As
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(A) 345 (B) Gclladl
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(A) [ (B) ey
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S 7
(A)  Huidiud Slued (B) ¥saliuA Slied
(C)  ami- slaed (D) &L 5laled

ARl 58 12160 g Qi doarel 2in Qo1 ol UsIRAL AUNSIA EIgs HlEL-A HALES ¢
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f&=d

T EUEH HA 30 TH 2 |
woft v sfEr 8 |
ferreent fnemor wgfa & an 1 wet A 2
(A) TH IZf 1 = et arerad | fFa |
(B) SEeh1 AT STATEhT o farieht I8t o woimt 8 9 gal |
(C) & ugfa meftes fren o wt oy $i 18 |
(D) Wi ueft Fu Ul & |

HUEATCHS ITTH T 311 911 &

(A) &t oy 3qmmy | (B)  31RFT T34 3T |
(C) T 7134 397 | (D) ST T34 39T |
e ek fafer ferar sl geran < fashra o wyer ardt @ ¢

(A) TS & | (B) 4T 24l |
(C) dT=H S&Fa | (D) ©EH &l |
TR e & ey J gieql we B

(A) T8 FicTRt fehan a1 & |

(B) T haTT Sl SITTeRT TaHT & AT 2 |

(C) ug Tovgaeg ! Tiear ¥ ugv w1 o foru fopan sman 2 |
(D) TB B F13TT 4 F 8 & feau arfoss 3m=mf 2 |

T34 -G 1 35e7 T 2

(A) Teremfer =t shoumn wifea =1 fasfia =t |

(B) feenfeiai gro forma fafawan ot Sft fafirman & ofa s |
(C) Terenfeiai & s <Y wfar Rt wfifia e |

(D) Teaenféfn o weneama % i sfa 300 %0 |

oTy1 e & fepa HETER g0 Y[ IS0, 919 HOEAT U1 qYT drdiend feeTel o meam |

s
EE

for@re ST g 7
(A) TG | (B) e |
(C) T Rasdhi | (D) fefrar® |
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affera 78 2 ¢

(A) Hid @ | (B) TSI |
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(A) FUTM | (B) .. gigan |
(C) wdai | (D) TS 3N &2 |
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27
(A) dfg e | (B) 3erfey ulteror 3 |
(C) eafaica wlteqor 4 | (D) 378 @ i3 78

70, ITERICH 1270 3q Tael 3navash 2 Eﬁ%
(A) IuETenss e 2q ffvaa ufwan | (B)  Fremrenss witeo | ®
(C) Tafsre syemmenss fareqor | (D) % | g A

Froafafiga memy & snar o wwm g@n 71 9 80 9% % 3T i

W H 37 AT HT TER FAI: FA1 Tl 8 | -G AET 9 " L B @ di-oi
3ah! g5 GeAd! A1 2 | 39 THR 3’ FH-9A, 7¢4-5 AR TWR-sa hi g Faga@g@
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ATET < i € T @ | 3TE 38 ST <hl TR a1 Ad1 Tl fh IS Jegwdl AT BN T, &,
-1, $93-8% D9 9 o, W 38 91 B Gehl Jal 8 6 HIS Tohell sxares, 3 T 3
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(C) e EE S
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(C) T+ (D) 9+
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(A) I+ (B) &

(C) ¥+ (D) 3FT

https://www.pygonline.com


https://www.pyqonline.com/

Pl

74.

75.

76.

77.

78.

79.

80.

~2

(39)
‘HeTEE e @ —
(A) TFEH (B) 2914
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HIg T HIE g2 T8, TAan el dear 4 |

21 wg Y, 71 qus fiR, she e a1 Wy i |
A ored 3 vs i, 9 W g faevat foque |
Hare Tl @ 181, Hac W 1 A TH A7 |

98 SIS SIS HLAT U1 W1, 98 0 Tod <1 STE1 o |
TGt deh U HH-5H, T A1 T T |

@ HEWY 1 AT T, WA AT B 7 |
Wi Sehel Y- L, Tdeh =4 a1 e e |
T 919 = =1 ©, TS 7747 &1 1 ITe o |
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(C) faeraras are | (D) TGN AT |
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(B) T3 st et <51 SATeRT | whdl I Had & |
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SECTION - 111
LANGUAGE - 11
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.,

Which one of these 1s not related to passive vocabulary ?
(A) words are recognized.

(B) words are understood.

(C) words are often used in speaking and writing.

(D) words are never used in speaking and writing.

Motivation is a process of :

(A) arousing interest (B) maintaining interest

(C) controlling interest (D) all of these

Communicative approach to English teaching means :

(A) Informal approach (B) Group competence

(C) Communicative competence (D) Communicative appearance -
How many components are essential in the process of communication ? Eﬁﬁ‘
(A) 3 (B)y 2

) 4 Dy 5

The communicative approach in teaching of English has been practiced and developed in :
(A) India and England (B) Indonesia and Japan

(C) England and America (D)  China and Japan

Multilingualism in classroom can be used to : (Choose the irrelevant option)
(A) teach all subjects

(B) teach about diverse cultural groups

(C) teach only languages

(D) teach the lesson of equality between cultures

Which one of these is not a part of remedial teaching ?

(A) Teaching afresh what has not been taught earlier.

(B) Teaching afresh what has been taught earlier.

(C) Suspending the part of learning the new items.

(D) Preference to reinforced practice of forgotten parts introduced earlier.
Which one of these is not a challenge of teaching English ?

(A) Determining the goal of language teaching.

(B} Several methods in language teaching.

(C) Large class size.

(D) None

Written Tests and Examinations are not meant to test :

(A) Vocabulary (B) Translation
(C) Pronunciation (D)  Composition
The concept of evaluation was introduced by :

(A) Dr. West (B) B.S. Bloom
(C) Thompson (D) Wyatt
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Read the following passage and answer the Question Nos. 71-75 :

“Wind energy” is derived through a process where wind is used to generate mechanical
power or electricity. Wind turbines convert the kinetic energy in the wind into mechanical
power, which can be used tor specific tasks (such as grinding grain or pumping water). A
generator converts this mechanical power into electricity.

‘ " may be an appropriate title for the given extract.

(A) Kinetic energy (B) Electricity
(C) Generator (DY  Wind energy
Fill in the blanks with appropnate linking devices which are given below : (for Q. Nos. 72-73)
Wind 1s used to generate  mechanical power  electricity. (According to the
passage)
(A) either—or (B) but-—also
(C) neither — nor (D) so-as
Turbines __ generators are used to convert energy. (According to the passage)
(A) neither — nor (B) both-—and
(C) but-also (D) as—as
A generator with turbines _ mechanical power into electricity. Ezm
Choose appropriate verb to fill the blank : Eﬁ'?
(A) convert (B) have converted
(C) converts (D) are converting
Mechanical energy and electric encrgy the difterent forms of energy.
Choose the correct option to fill the blank :
(A) are (B) is
(C) have been (D) was

Read the following stanza and answer the questions ; (Q. Nos. 76-77)
What this life if full of care

We have no time to stand and stare ?

No time to stand beneath the boughs.

And stare as long as sheep or cows.

Choose the correct rhyme scheme in the above stanza :

(A) abcd (B) abba

(C) aabb (D) baba

Which literary device is used in the second and third lines of the stanza ?
(A) Alliteration (B) Simile

(C) Metaphor (D) Personification

In Saxon strength that abbey frowned.

Which figure of speech is used in the above line 7

(A) Metaphor (B) Simile
(C) Personification (D) Epigram
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[ must confess that it my quest, [ felt depressed and restless.
Which figure of speech is used in the above line ?

(A) Personification (B) Assonance
(C) Metaphor (D) Epithet

Thy soul was like a star, and dwelt apart.
Choose the correct option of the figure of speech which 1s used in the above line :

(A) Personification (B) Metaphor

(C) Pun (D) Simile

Choose the correct Modal Auxiliaries to fill the blanks for Q. Nos. 81 & 82 :
[ swim across the river when [ was young. (ability)

(A) can (B) may

(C) could (D)  might

[ thought he be at home. (possibility)

(A) might (B) may [OE4 O
(C) ecan (D) will O

Prohibition is “gall and wormwood’ to distiller.

Here “gall and wormwood’™ means :

(A) helptul (B) hateful
(C) hopeful (D)  wonderful

He “stood his ground’ against adversary.
Here “stood his ground™ means :

(A) stand still (B) did not fall

(C) maintained his position (D) maintained his game
Petrarchan Sonnet is also known as :

(A) English Sonnent (B) [talian Sonnet

(C) French Sonnet (D) Shakespearean Sonnet

Plosives consonants are :

(A) |p.bt,d] (B) |t),d3
(C) m,yn,nq| (DY [f,v.0, 2
Which is palatal consonant ?

(A) |h (B) (0]

<) 1 (D) 1]

The phonetic symbol for underlined letter in the word “tile” is :
(A) e (B) |oan|

(C) |AI (D) |ai
Phonetic transcription for the word “hang’ is :

(A) |heing (B) | han |
(C) | heng| (D) |homy|
Phonetic transcription for the word “jester’ is :

(A) | dgesta(r) (B) |jesta(r) |
(C) | dzeista(r) | (D) |jesta(r) |
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95t J | 7e 99T 95 fity 8e T 37 foger @3 fer 9 | few 397 w1 9T Hs us e
felszr oAs a9 8w T, It Rt us ez gz fdera 1”

(A) FaBsHTes (B) gnsq

(C) #3 (D) #.6.98s

J9, 45, w14, 99 »ffe § »rarg gerfe e 7 | — feg Bvvaes fan 3w §39 98 Ad3 gt
T7?

(A) TTINEAT TS (B) YIsIMATS

(C) nIHs 2 feaHa =5 (D) Hafefamrfaa 3 39faa s
gge St famHadi -

(A) SE9Te (B) =738 9dc

(C) WHIrsaardt g9e (D) T[ETH TGS
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68.

69,

70.

(58) PL-2

1{H’5’Eﬂ§"’ﬂ*

(A) widt, miHe w3 958 T T T |
(B) A, »imiwe »3 A9s ISt T T |
(C) nidt, nimdee w3 g3 3 o T
(D) A, M wS IS TR TR T |

afezrus, »iag Gu, #&t i wife faadt Yifumr @ viaras |

(A) I A0St fifepar (B) Heg3r du <t ftfunr

(C) wae=dt farnrs <t Yt (D) ys-RHardt & famrs ot fifemr

frgs 99 ygor-Teve &t wree €57 ¥ feraa § vue B¢t fagdt waiae feft & yuar
Feafead ?

(A) =Hsfeas fifimr (B) yma=sHl
(C) feeafeg (D) wfmwmud faafus fifimr

=

(71-75) I B g sug A AT dua 713 75 a2 §3a fef

HeY < feaa’ &t vgre GR < fagma ygs & ooft 3 & il 77 Aawt 0 fafa fig aet fagm

wifadt fazme Unm aw g Av wifls @ut 9 | va for ¥ a0 Hodd 996 AHH & AT &< B8 Uad ©
e It I | vifaft 39 WEd € FIT & He HaEt J 2 HaY & nmIH YTaT & 58S J9+1 J, fan
AYE HEY 9d WHZE AHE A @8 fimgt o feam HWee Jo 9 | vars 9% 29 a2y J4ft fagme
feus % v gayg Aisarg afon™ 992 75 |

71.

72.

73.

74.

‘FHE T feadt maw T

(A) fagdt (B) fuaadt

(C) I=Q (D) St

WIS BT & T HEC J -
(A) WgIE (B) e Eﬁ?
(C) wadfie (D) mHAg=

‘Jg" HE< €7 Y- wdud HEC J :

(A) wegoadt (B)y w3

(C) = (D) ¢u

‘HST'S HEE ¥ HH'EJ8d A< 9< :

(A) I3, dd=d (B) 3939, 7&a1
(C) 3Id3<d, HId™ (D) 3329, IEHY
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75.

(59)
&I < O {89 998
(A) H9H (B) 9T
(C) WHT< (D) Tt

(76-80) J& {34 Frfe-¥e § U3 & AES 399 76 3 80 I € G397 ol : -
Har fde U v g g,

76.

77,

78.

79.

80.

81.

a2 yragrft 7 grdfnr &1

HEMT AR & 3ar Hdr T

g fare mE wigdn &t |

g iz S At |

Sasafe-de v ged:

(A) HI& (B) fomdt

(C) fradst (D) €3
Sazafe-de v gn T

(A) W3TH (B) g3 an —
(C) Fg=aH (D) fdarg an E
Gazafe-sewrafe-gud:

(A) S (B) FIE™HT

(C) =9 (D) wI¥

‘I HES S NIE J :

(A) <FE (B) fagumst

(C) =398 (D) <99

‘Ift fSare mE wiardht 21 3 f39 e waw wiadhy o dagi vigg J ¢
(A) nig Fht Sadtmt (B) gt Shor U

(C) waowq (D) J2

nig yr fygdt, 999 3 AT e o /A wigE 9

(A)
(B)
(©)
(D)

"o faH T TEUB g3 JEUg TH U |
e faH € 78 U8 uie 98 g o uie |
e fan € Te B §7 PH YT TH 53 |
Ao faH € TeUB Hg3 JE I TH I 53 |
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83.

84.

85.

86.

87.

88.

89.

90.

Ut 2 flug® red faa3 78 7
(A .6
() &,

Ho fustft seurg fee 3 gmie B @A fenfm | (€3=T HT™=9T 923 T YdT 99)

(A) we
(C) thI=he

(A) ¥
(C) @

5 | G ik et mm v

Qe T T Y@ J:

(A) YHBINA T
(C) feniewaad

 adtdtfie-asd
(A) AHT B yaar
)y 35

wizaEaty ffaaraed:

(A) IH3IT
(C)y wif3Gadt

forrzggr e gt g2 d .
(A) Esmw
(C) fonrsazr

73 3 ufget nifrsia @9 T
(A) R SR
(C) HWBITE =g

(60)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(1)

9.€
3,

935

';ja B =

7oy ot fragar

Iy
£

gadtdt =g
Hgdteg

wIet T fEY fan Hawe ot 293 faudhi ges= gt 98t T 2

(A) ve fgd373d II&'a Bel

(C) afevdt! feaziza gua= aet

(B)
(D)

ggTHTT Bet

e faga 3 auae Bel
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61.

62.

63.

64.

06.

67.

68,

(61) C
s 111
GlUNL - 11
eyl
L ASHLSE 30 WAL 6.
€36 WL el Al $306vd 8.

ARl e SlueiAl 0l 51 S0 S 7

(A) el 5%, @i, AU (B) AL, did, SR, 54
(C) ARl 5%, A, A (D) AL, evid, -, 58
ALZARU2] 22— 3R AL Sl MHELL LS 7
(A) 23518= (B) 2[@si

- - - = Ei:E
C) svyex D) Al
(€) 5 (D) =42
USRS AL HOGL e Al 5216 7
(A) sl UELA 52IL (B)  312t-4gl tlldal HizAL
(C) A5 Al Hi2-L (D) MRLEML UsNAL M2l

‘sladL 2 sulHL e & Al A e [Qeun-L AeeiL sleuRizis-l woerdidl 516 21s L
LAl

(A) Ml (B)  s1MHl

(C)  uapele WA (D) A

Heuls sl el A4maMl ARzl 58 s ot A 202 6 9
(A) el uglawll (B) &ailiis 2i-eil

(C)  H&Us dlm-l (D) HUlEid dd wRad

(Aot UsIRAL WAL HUEL R 53 W2 Bl USIRAL WHILAL 3L S3UH U 5 7
(A)  ilszeluse (B) WIELUSR

(C) 251 Gk UsIR (D) SBLUSR

M851 otrltell 5L AR 58 A5 s0E1HL 1 Al A2 7

(A) el sl s (B) iyl 3 12l

(C) Ay Yo 511l (D) gd Y™ s1iél

AL, U SIRLEA WL HEAI5 5H HUESHE AlRIArHi2] 521 1251l A3 A & 9
(A) YAl (B) 2454l

(C) UeESN (D) Ygadl

https://www.pygonline.com


https://www.pyqonline.com/
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69. o2 otrladl D ARl 585 oot AR 20 AL 24 5 ¢
(A)  Scfil, 2R 2 UM (B)  [Frvaistacy, Sl 24 WAL Us1R-,

(C) WAHUUSR, [Auaazd 2 [zl (D) Avadrd, dqzil 244 [srBisi

70. ARl igyg Graurel s sIE s WRLRs srEL AL

(A) Ms B (B) &&x
(C) s (D) 2w
(S 5]
L2 A iz AR WA sHIS 71 2 73 B L : s

Yaetsidl Hall HirellAl e sazml Hevadl (L G 9. [0s sddl, “§ ARsM1 weL AR
Yaetsld 24P 5312, SRELS AL 2zell Al 95 d 2l S Al AMRAM 240 ol val”
(544l “Unto The Last™ “asHiall aldlona dcuas-l uzen woill gdl. olldl 244 oidoa el
Y51l 2Ll 245 Qs Bad ar W+l URRW HOLedl €L 5. 04REL, HSGRA 24 GPLad
ol U1 MIRA A5 251l AL HETAAL UL GEYedl £5. 2 AL AL 245 AlsL HE2

UIBUEIUS Aldd 6.

71, HirAdlrl 2)aesARHL Sl APIEIA Hse el £ ¢
(A) Hulaq, (B) Gl
(C) Jratsid, (D) MRz

72, “Odleg sl MR HOL edl.” sl Ucuus” uos-l bk g2l wst.
(A)  UcH + BUAS (B) e + 2UAS

(C)  Hed + Ad (D) U + 24U
73, 2t diun 54 s 2l usta ¢

(A) 29 tsclR-{ Herd (B) “actsl-l |-l
(C)  auzElL (D) sl
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74,

76.

77,

78.

79.

80.

(63)

{21 AL UELLELAL PR WA HIS T4 2l 751 BoR el -
ABlHL RAHL THG, AR 1L A WL

g3l AL e 2[4z Bur WAL A HAL

L @l ML 2L AL ERAL,

eS| 24 WZLAL el 2410 Mo A 1ol
YRRAIA bz 2 aqt &l

B SUAL UL, AL HIEL AorR WO A WAL,
A{R] Al ATHUL, R2cAL, AELAL 6ldl
gl sled sl sz HOL A |,

QUL UL 55 DL USRI 538 AL
GLEL UM 518 SHUSR HOL A 1L
-l ynall wef ozl @6 2Alsa,

Bz 241 YL sl GUER HOL - HOL

5[ 2l 1 el Al A 52 65 2

(A) Hllz (B) ol wél
(GRETIEERAED (D) &l ubal
Uil slac 0 s 53 2a0dl sia g

(A) dd=lyn (B) UL WL

(C) M PR (D) &4l UbaL
adl o], ‘d vz MAS P A 5L USRAL AHRA S ¢
(A) £ UdAM (B) gt A
(C)  M3uARSs AdAH (D) 2eUS UdAH
‘oIz 25 HIZ RIS 53 8. Al sl HESR & 9

(A) 3M5 VCSR (B) Gcllatl wiesi
(C) B wesi (D) <uldzs wdsR
‘o UAUUCI A 5UL $56| OLARGL S ¢

(A) HELS5LL (B) el

(©) [amkell (D) wkuil

"SR U Al Az s3LUSRAL B 6 ¢

(A)  =Uldnus Balagime (B) =l [Bauldzime

(C)  ddas Balaus (D) AuAarRs Balaus
" ALS siglMlell 77 AL S USIR HAYS B 7

(A)  [ERtacns (B) [seuas

() EouHaus (D) ERIdUUS
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83.

84,

86.

87.

88.

89,

90.

(64) PL-2

‘BLiL [l e elell.” asaAl 5L dlszaAL AR 55 6 ¢
(A) el el ad dal. (B)  =iell e ad dl-l.
(Cy @il Mot af aal. (D) 2l (el A daat.

[l AR, 518 W0s dRs mld HAALE 2AALUR GIR HeAHL Aoy Sl Bl 27y sraL W2
Al 521 RagAL Gyt 2 5 ¢

(A) el Rt (B) 2edlaRiM Rugri-ll

(C) ARMERM Rigrt-l (D) iddzl RigA-lL

‘6ol A 20AL A BA USRS ¢

(A)  @ustel (B) wsid

(C) [Hésuel (D) s

A UL, LOEAHEL S Al M 5IH 5l AU 3 58 6 7

(A)  Ham WL w1 (B) Goiradl i

(C) ARl 2 (D) Brulasime ey
‘AR 2106 ARIAMIR 5L USIRALES ?

(A) dgeid (B) %l

(C) ded¥ (D) #su A

AL-Ariedl 565 [Qae wgla (el 5l ¢ gﬁ%
(A) vl (B) ogual i
(C) -uzdlszil (D) Wiovs?

[CenellzAlAl seutailban [suaa w2 58 Al Hee3w o ¢ ¢

(A)  dlells (B) au-d

(C) =ud (D) et

521 [RiEterl [t wgld e AlzAcuel s ousd 0=l s ¢
(A) 2l 1gld WE(GS doiss GuAil 8.

(B) “rMiru2dl [Aee” Yl Guaa

(C)  crfRiEtel 1L s 201,

(D) (sl gz [Eigel et 208 5.

s O O SN S " =~
Hicl U ALUNS S 15, A 54l USIRAL Gl

(A)  [Baucus el (B)  2u(css e

(C)  auless e (D) s1aeiaAl G
HIRUML (1AL MAH S 53165 7

(A) sl (B)  o-llcHsdl

(C)  udellzs Gudler (D) iltieuls A wciA
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PL-2 (65) C
SECTION-1V /@S -1V

In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and

IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.

The candidate has to choose either 1V(a) Mathematics and Science OR IV(b) Social
Studies as selected in the Online Application Form and answer all the 60 questions.

T @Ug U g Ingvs HAfa [V(a) miftra aon famma wa 1V(b) amifoes 31 & | SHi 3Ta@vsl &
Tedeh | 60 gfeshedia T 2 |

qlieeff 1 [V (a) TR aen famm sraan 1V(b) amfes e, S gg= e smee-ua o
fepan 2, 1 & ot web v@vs 1 AT @ v Wt 60 T BT ST AT R |

SECTION-IV(a) / @US — [V(a)
MATHEMATICS AND SCIENCE / Tford aen fagm

There are 60 questions in all in this section. The candidates who have selected this subject

must answer all the questions.

THEE U %A 60 59 2 | T anarfefai 3 5w faw 1 == fomen 2 32 @it wvA e arfem 2

91. The co-ordinates of the origin are :

(A) (1.1) B) (1.0
© 1,-1) (D) (0.0)

e fomg o Hameh @

A) (1. 1) B) (-1, 0) i
€ (-1,-1) D) (0,0) 2t

92, Ifa dice is thrown once, then the probability of getting a number greater than 6 is :

(A) © (B)

b2 -

(C) 1 (D)

Ffe U T Uh TR IDTAT A1 2, a1 6 T TSt T=A1 37 i Tirhar 2
1

(A) 0 (B) ¢
7
(€) 1 D) 2
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94.

96.

(66) PL-2

Which of the following statements is not related to the nature of Mathematics ?
(A) Mathematics is study of numbers, places, measurements, etc.

(B) Mathematics has its own language terms, concepts, formulas, etc.

(C) The knowledge of Mathematics is not logical.

(D) The knowledge of Mathematics is the same in the whole world.

T o 6t a1 e mifra Y wefa @ wefua A 2

(A Tifrd o gl Wi, gEt srfe s sreaaa fea smar g |

(B) ifore bt 31oft s e, oo, g anfe i # |

(C) Tiford 1 1= arfhes T FaT 2 |

(D) TITOTd = 19 T ST 99 9 % B2 | gﬁ

“Mathematics is the language in which God has written the Universe.” This statement is
told by

(A) Galileo (B) Locke

(C) Bertrand Russell (D) Lindsay

“TTford g WTeT & Forem e 3 gepel s A1 stenve W o e 2 1 98 e fohed e
(A) TrefifoEn (B) @ik

(€) w38 el (D) fored

According to Napoleon — “The progress and the improvement of Mathematics are linked
to prosperity of the state.”

This statement corresponds to which value of Mathematics ?

(A) Disciplinary value (B) Social value

(C) Aesthetic value (D) International value

AT % STgER — “Tifor i I=fa qn afg 3w F qer=a 9 gafa 2 17 98 we e &
form your 9 wefaa g

(A) IIEATHS YA (B) @I gedl

(C) Hicaicns qoa (D) FaUgHE g
The author of the book “GANITA SAR SANGRAH" is :

(A) Aryabhatta (B)  Shri Dharacharya
(C) Pythagoras (D) Mahaveeracharya
“TiftTe AR FUE AT TEh & oG 8 :

(A) 3mdug (B) it =

(C) TTSUTTHE (D) wgretoE
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97.

98.

99,

100.

(67)

In which method by moving from ‘Particular to General’, we generate formulas in

Mathematics ?

(A) Deductive Method (B) Lecture Method

(C) Inductive Method (D) Project Method

o farfr 3 “Fofore @ AT’ <61 i R g En e g B R E 7
(A) Frm fafa (B) = fafy

(C) s fafy (D) e farfer

The knowledge of which of the tollowing is most helptul in painting ?

(A) Geometry (B) Statistics
(C) Arithmetic (D) Function
frafafiga 7 9 ferae 79 faeen # waifus e 2 7
(A) T@wifia (B) wHifegsh
C) HHA D) e [OF{0
(C) (D) Eﬁ?

Which of the following is not an evaluation method ?

(A) Interview (B) Preparation
(C) Questionnaire (D) Check-list
Frerferfia & o o v Hearien sfaf T & 7

(A) TIEHR (B)

(C) ST (D) <s-foe

The evaluation process is related to :

(A) Educational objectives (B) Evaluation method
(C) Learning experience (D) All of these

(A) Toregor sevai & (B) TR fafa &
(C) iferm agua 4 (D) FERT

https://www.pygonline.com
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101,

102.

103.

104.

(68) PL-2

The purpose of diagnostic testing is :

(A) To guide learning methods.

(B) Classification of students according to difficulty level.
(C) Detecting lack of achievement in particular subject.
(D)  All of these.

e wiew w1 va 2

(A)  ¥eags ugfadi o1 femm-fady s |

(B) “HfaATE TR & IR T BT hi aifhaor ohiAT | Eﬁa
(C) Torsa fasr d Igafets bt et <1 e @mmT |

(D) T |t |

Which method tollows the principle of a process of combining different statements or
parts to get something new ?

(A) Lecture method (B} Heuristic method

(C) Analytic method (D) Synthetic method

forar faftr & o a1 wra @ & fora faftr= et an vt & gasm 6 wbwan & faga
I gt B 7

(A) eurear fafe (B) gftfee fafy

(C) Tazemm fafy (D) wer fafy

[f (/3)7 x 92 = 3% x 343, then the value of x is :

(A) 4 (B) 5
) 6 (D) 7
?ﬂ%(\ﬁ)ﬁ><93=3"'><3\ﬁ?5:|,?ﬁ.r$fﬂﬂ%:
(A) 4 (B) 5
(Cy 6 (D) 7
[f[.\' ——lj = &, then the value ot'(.rz + lz} is

X X
(A) 64 (B) 68
(C) 66 (D) 4354
aﬁ(l‘—%)ZSﬁ,?ﬁ(ﬁ+%]ﬁW%:

p X
(A) 64 (B) 68
(C) 66 (D) 4354
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105,

106.

107.

108,

109,

(69) C
The factor of {x* — (x —y)*} is:

(A) y(2x—y) (2x2 = 2xy + y?) (B) y(2x+y) (27 + 2y +y?)

(C) x2x—y) (22X - 2xy—y?) (D) x(2x+y) (22 + 2xy +y?)

(xt— (x — y)'} BIIHEUE B

(A) YQ2x-y) (2 -2y + y2) (B) y(2x+y) (2% + 2y +y2)

(C) x(2x—y) (227 - 2xy - y?) (D) x(2v+y) (22 + 2xy + y7)

The sum of two numbers is 22 and the sum of their squares is 404, then the product of
those numbers is :

(A) 44 (B) R0
(C) 36 (Dy 40
1 HEATHT 1 AW 22 BN 3R Ih A 61 AW 404 B, 11 I FLA3HA] H PHGA 2 :
(A) 44 (B) 80
(C) 36 (D) 40

The sum of the digits of the minimum number by which 1800 is multiplied to get a perfect
cube number is :

(A) 2 (B) 6

(C) 5 (D) 4

a8 =y T faw 1800 %1 T T UL Tk UT T4 HEI1 U &, < ek I A 2

(A) 2 (B) 6

(C) 5 (D) 4 E5E
5

b r o] . : :
If a sum of money becomes 20 of itself in 7 year at a particular rate of simple interest, then

the annual rate of interest is :

(A) 5% (B) 7.5%
(Cy 10% (DY 2%
aﬁémwaﬁaﬁr%ﬁﬁmam&aﬁﬁaﬁwi—éém%,a‘lwﬁmﬁma%:
(A) 5% (B) 7.5%
(C) 10% (DY 2%

[n how many year(s) will ¥ 2,000 become T 2,420 at 10% per annum compound interest ?

(A) 2 years (B) 1 vyear

(C) 3 years (D) 2% years

10% aTfi¥es =rhafg =ms o T 2,000 fre o & 3 2,420 &1 Swéw 9
(A) 299 (B) 194

(C) 3ad (D) 2%ay
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110. If the selling price of 7 articles is equal to the cost price of 6 articles, then what is the
percentage loss ?

(A) %% (B) 14%%

(C)y 13 %% (D) None of these

afe 7 aqait 1 fosha g1, 6 %q 3t 6 9 Goa % s &1, a1 foha wfera zifa geft 2
(A) ?%% (B) 14%%

(C) 13%% (D) ¥ & HIE T

111. A bag contains I 20, T 10, ¥ 5 notes in the ratio 3 : 4 : 5. If the bag contains T 1,000 in
total, then the number of ¥ 5 notes is :
(A) 32 (B) 25
(Cy 24 (D) 40
TFHAAHT20,310,35FAR3:4:5F A g | I IA T A ¥4 T 1,000 7, A T 5
& A1l 6l TSI 2 :
(A) 32 (B) 25
(C) 24 (D) 40

112, If the sum of the numerator and denominator of a fraction is 55 and the value of the

fraction is % then the fraction is :
IOFA0)

20 10 :

(A) 35 B) T3 Eﬁ'?
. 5

(C) 50 (D) None of these
afz el forr 35 3o 3ik g 4 55 8 e o o S 8, 4 et 2

20 10
(A) 33 B) 713

5 -
© 35 (D) ¥ & 1 T

113. If a transversal intersects two parallel lines, then each pair of corresponding angles is :

(A) Half (B) Double
(C) Equal (D) None of these
afe ueh feifeh Y@ & wier Tt =i afaede A, o Sd i 1 Tes I 81 3
(A) e (B)
(C) R (D) ¥ & IS T
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114,

116.

(71)

The longest side in a right-angled triangle is called :
(A) Hypotenuse (B) Perpendicular
(C) Base (D) All of these
A e e et S R 2
(A) i (B) o
(C) 3TTEr (D) 3=t

. Ifin the given figure PS[IQR, then the value of ZQPS is:

(A) 36° (B) 90°
(C) 54° (D) 100°
afe fe3 7@ R 4 PS|QR &1, @ ZQPS HIAAE -

(A) 36° (B) 90°
(C) 54° (D) 100°
The sum of all the interior angles of a pentagon is :
(A) 360° (B) 500°
(C) 450° (D) 540°

(A) 360° (B) 500°
(C) 450° (D) 3540°

https://www.pygonline.com
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117. The radius of a circle is 6 cm and P is any point which is 10 cm away from the centre. The
length of the tangent drawn from P to the circle will be
(A) 6c¢cm (BY 12cm
(C) 8cm (D) 10cm
v g i e o ot 2 aen P fag 3 S = 1 1030t 2 1 P8 g1 W Efi=h 7 vk
1 v 2t
(A) 6a (B) 12 @t

) ExE
(C) R &t (D) 10 & Eﬁ’?

118. [n a right-angled triangle. if its sides are 15 ¢m and 8 em perpendicular to each other, then
its perimeter will be
(A) 40cm (B) 38cm
(C) 46cm (D) 50cm
us wushi s H, afe soeht yend |5 Ftet ofR § Hiet vk gut < wead g, dl 39
qREm™ EﬁTﬂ :

(A) 40 (B) 38 4l
(C) 46dH (D) 50 Tt
119, The anthmetic mean of 1, 2, 3, 4, .... n numbers will be ;

n n+ 1
(A) 5‘*' 1 (B) 3

n n—1
© 3 ® 5
1,2, 3.4, ....n ST 1 SR 71 80

n n+1
(A) 3+ B

n n—1

(C) 3 (D) 5

120, The difference between the upper limit and the lower limit of a class is called ;
pp

(A) Frequency (B) Mode

(C) Class size (D) None of these
Terdt =t <t S din aen fe o =61 o= a2

(A) SHREHAT (B) ®gch

(C) =t | (D) 3 & &i3 T
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122. Which bacterium causes pleurisy disease in human ?
(A) Mycobacterium tuberculosis
(B) Corynebacterium diphtheriae
(C) Mycobacterium leprae
(D) Neisseria gonorrhoeae Qﬁ%
B @ e & uHa § e AT e 7 =
(A) TSRS TR EE
(B) SHiHdwifEm feuddar
(C) WghiaFITEn el
(D) i TS
123. Which type of sebaceous glands present in human skin ?
(A) Apocrine (B) Merocrine
(C) Holocrine (D) Eccerine
HIE oo it defia Tfet w8 ysn H i E 7
(A) WIS (B) izmiga
(C) eI (D) ThTeA
124. Disease caused by deficiency of Vitamin A is :
(A) Night-blindness (B) Ben-Beri
(C) Scurvy (D) Rickets
o (AR FH A T 2 ;
(A) Taieh (B) sf-sft
(C) Tl (D) fehew
125, In which phase of cell cycle, synthesis of histone protein occurs ?
(A) G,-Phase (B) S-Phase
(C) G,-Phase (D) M-Phase
hif3rehT =sh <hl 1wt TTeen § fexa Wi <1 wyerav g 8 ¢
(A) G -grEen (B) S-SraEy1
(C)  G,-Srae (D) M-HrEEr

(73)

Sacred groves are found in

(A) Khasi and Jaintia hills of Meghalaya
(B} Aravalli hills of Rajasthan

(C) Western ghats of Maharashtra

(D) All of these

LICERGCER I G E

(A) Herer =) @t 9 st werfe 4
(B) s & el uad 2fge i

(C) wawrg & ufvedt are |
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126. When was the Family Planning (Family Welfare) Programme started in India ?

(A) 1947 (B) 1951
(C) 1958 (D) 1960
YA # UHER FHESH (THETR SHeamn) HrRiRH Sl AR w6 g3 o 7
(A) 1947 (B) 1951
(C) 1958 (D) 1960
127. Which of the following hormone supports pregnancy ?
(A) Insulin (B) Adrenaline
(C) Melatonin (D) Progesterone

frmfefiga 3§ 9 = 91 gW S9ad 4 98E6 & 7 I
(A) FEfem (B) el 20E

(C) wetertr (D) S
128. Which of the following is not an example of Kharif crop ?
(A) Cotton (B) Soyabean
(C) Maize: (D) Pea
Frafafea 3 9 =5 @ Tis H woa +1 g Ad @ ¢
(A) ITH (B) dramH
(C) He=hl (D) "X
129. Which of the following is not a scientific teaching method ?
(A) Anecdote method (B) Ewvaluation method
(C) Psychophysical method (D) Questionnaire method
ffafiaa 1 U @R @ e Jsmies e A agi g 7
(A) e fafy (B) geaiehq faft
(C) wArfes fafu (D) wwTEe! fafe

130. The main objective (aim) of evaluation is :
(A) Removal of students errors.
(B) Measurement of students achievement.
(C) Give promotion of students.
(D) Diagnosis and treatment of learning deficits.
TR <l T 3899 2 -
(A) Ferfer=ri K1 3feat fpremn |
(B) Twenflai <Kt suefey s wmoan |
(C) Tonenferai svi wi=fa wem & |
(D) Hrea i wft =1 Fer v 3= S |

131. Which teaching aid is not included in the audio-visual equipment ?

(A) Movie (B) Television

(C) Laptop (D) Epidiascope
A =t firequr-sgrrs ammft, yer -7 3ushn § aftfera 78 8 7
(A) dfas (B) cfifasm

(C) e (D) Tea-foreams
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(75)

Correct decreasing order of friction forees is :

(A) rolling, static, sliding (B) rolling, sliding, static
(C) static, rolling, sliding (D) static, sliding, rolling
HUT T 1 HE Tl A @

(A) irefaes, wifaes, adf (B) iefaes, adi, @ifaes
(C) wifas, aelss, adf (D) e, odi, <=

. An object is moving on a circle of radius R. When it completes half circle, then the

distance and displacement travelled by it will be :

(A) nR.R (B) 2zR,R @%@

(C) =R,2R (D) 2zxR,2R Eﬁﬁ:

U g6 R Brsan & ga wonfanE 2 | 59 98 gy 0 2, d1 36 g 9 e gl |
fereemom 2

(A) wR,R (B) 2xR,R

(C) =nR,2R (D) 2z R,2R

A wooden spoon 1s dipped in a cup of ice-cream. Its other end
(A) becomes cold by the process of radiation.

(B) becomes cold by the process of convection.

(C) becomes cold by the process of conduction.

(D) does not become cold.

TS | TF TE B IFHH AT § a1 I 8 | §9R1 g o
(A) Taferror i wfsFan  Hrw a1 & e |

(B) Hee 1 wfzran 3w de1 2 s |

(C) arer I afshan = Fror 331 8 S |

(D) 3 7@l & |
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135, The value of x in the given diagram is :
Normal
Incident Reflected
ray ray
307
Plane Mirror
(A) 15° (By 30°
(C)y 90° (D) 60°
HAfirens
- . E;E
femron farm &=
309
Huad gdul
(A) 15° (B) 30°
(€) 90° (D) 60°
136. The frequency of a sound source 1s 50 Hz. In 2 s number of vibrations will be :
(A) 25 (B) 50
(C) 100 (D) 200
foplt eafs |ra 1 amafd 50 Hz @ | 5896 2 s 1 oAl 1 e gl
(A) 25 (B) 50
(C) 100 (Dy 200
137. LED emits Light :
(A) Only green colour (B) Only red colour
(C) Only yellow colour (D) All of these
LED Y131 Jcdfsfd e 2 :
(A) Had U (B) haet @t I
(C) hae dem (D) Faft
138. Which of the following is not a member of the solar system ?
(A) An asteroid (B} Meteors
(C) A satellite (D) A comet
feafafma d g R dnafien w ge=m 18 2 7
(A) ¥eu@ (B) 31U
(C) 398 (D) YHehq
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141.

142,

143.

144.

(77
Laboratory method is based on which principle ?
(A) Learning by seeing (B) Learning by doing
(C) Leaming by rote (D) All of these
yarremen fafy fea fagra w snanf@ 2 2
(A) CEH TG (B) hieh HigHT
(C) T " (D) T At
Synthetic fibre among the following is :
(A) Nylon (B) Cotton
(C) Wool (D) Silk
frafafiga 4 o woefva @ 2
(A) ATgAH (B) HH
(C) A (D) wm
The symbol of potassium element 1s :
(A) P (B) Po
(C) Pt (D) K .
T T 1 e B Qﬁ%
O3
(A) P (B) Po
(C) Pt (D) K
Chemical formula of aluminium nitrate is :
(A) AINO, (B) Al (NO,),
(C)  AL(NO,), (D) AL(NO,),
e TR @ uawEE g e
(A) AINO, (B) Al(NO,),
(C) AL(NO,), (D)  AL(NO,),

Which of the following mixture can be separated by the winnowing method ?
(A) Mixture of grain and husk

(B) Mixture of grain and pebbles

(C) Mixture of wet sand and pebbles

(D) Mixture of sand and water

fraferfiga 3 @ wia @ fueon frsaram fafy gro g o w1 wsar @ 7

(A) 3T=hU1 9T & &1 fayo (B)  3T=TehUT 20T Shehg I TH3m
(C) it firgt aen ane =1 firsm (D) Tt aen urh =1 s

Synthetic indicator among the following is :

(A) Litmus (B) Turmeric

(C) China rose petals (D) Phenolphthalein
frferfiga 3 & Hveifd g &

(A) feremm (B) &

(C) e hl gfeai (D) BT
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145, The pair of green-house gases is :
(A) 0, CO, (B) €O, N,0
(C) N, CH, (D) 0,.H,0
gfta-1 el 1w 2
(A) 0,.CO, (B) CO,.N,0
(C) N, CH, (D) 0,,H,0
146. Audio-visual teaching aid among the following is :
(A) Radio (B) Chart
(C) Tclcvision (D) Blackboard
frrafafiga 4 9 ger-gwa frgm amvm 2 ——
(A) e (B) =me Eﬂ’?
(C) Q_{ﬂﬂh (D) TEHIEL
147. Which bacteria is found in roots of leguminous plants as symbionts ?
(A) Rhizobium (B) Bacillus
(C) E.coli (D) Achromobacter
crfiata dei 6t sigi # HiA @ e agsfid % w9 e S g
(A) TgIfeay (B) dfaam
(C) SIS (D) UHHTsE
148. Which edible part is modification of stem ?
(A) Turnip (B)Y Carrot
(C) Sweet Potato (D) Potato
= 3 @ =i a1 9= vee & 1 s R 7
(A) YeTsH (B) TS
(C) i (D) 3ATe],
149. Which of the following is a simple tissue ?
(A) Xylem (B) Phloem
(C) lScIcrcnchyma (D) None of these
= 9 4 v otE a8
(A) wIEe (B) veAITH
(C) TehoiAhTgHI (D) 379 ¥ 3 I
150. Which of the following is not an air pollutant ?
{A) Carbon mono-oxide (B) Nitrogen oxide
(C) .Mclhanc (D) Oxygen
fradasRag s A& 2 7
(A) HrE OHI-ATFETES (B) ATSEISH ATaETSS
(C) == (D) TS
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SECTION-IV(b) / @S — [V(b)
SOCIAL STUDIES / SIS 31e98

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

T @vs 1 F 60 WA § | Fom srafiii 3 g fawr @1 wa= foren @ 3% woft wom e aifari 2

91. In India after the death of President Fakhruddin Ali Ahmed who acted as President of India ?

(A) B.D. Jatti (B) V.V.Giri
(C) Zail Singh (D) N.S. Reddy
A | g EEEH Sl H1gHG il G % 915 HrEaTEs Ugiid & &1 1 fhed Hr fha 7
(A) g T (B) <. firty
(C) i« fiig (D) TH.UH. &
92.  Which two states have same number of Lok Sabha Constituencies ?
(A) Uttarakhand, Jharkhand (B) Kerala, Karnataka
(C) Andhra Pradesh, Rajasthan (D) Punjab, Odisha
o1 <1 ot <Y At Frafem- &1 B s T 8
(A) TGS, FES (B) e, FARRH
(C) 3TTY &1, T (D) 9, 3t
93. Toll free Helpline Number for Children who are in need of care and protection is —
(A) 1095 (B) 1096
(C) 1097 (D) 1098 Qﬁ%
a=di 1 Yfaun vd weg % fore f:956 Feuerga T - =
(A) 1095 (B) 1096
(C) 1097 (D) 1098

94, In India which Constitutional Amendment determined the size of the Council of
Ministers ?

(A) 81 (B) 91
(C) 101 (D) 102
wrd # T wfaum dwivm grn afafee o smer fuffa fem mn 2
(A) 81 (B)y 91
(C) 101 (D) 102

95. In 1989 which Committee recommended Constitutional recognition for the local
government bodies ?

(A) P.K. Thungan Committee (B} B.R. Mechta Committee
(C) Ashok Mechta Committee (D) Sadik Ali Committee
1989 1 ferg wfifa A wuria som 3 fiepEl =t @3ty et yem =@ 6t fawio 4 2
(A) H.3h. g giafa (B) .3, Hgan afufa
(C) 39Tk Hgar affd (D) wrfees et afafa
96. ‘Abolition of titles” is a part of which Fundamental Right ?
(A) Right to Equality (B) Right to Freedom
(C) Right Against Exploitation (D) Cultural and Educational Rights
“Jutferi w1 3t foret wifereh arfumr o famm @ ¢
(A) HEAT T AUHR (B) Ta=dl 1 AfUhR
(C) iy = fereg rfermm (D) TEhias R fereh arfermn
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Identify the correct group of Scheduled languages in the Eighth Schedule of the

Constitution of India.

(A) Bengali, English, Sanskrit (B) English, Hindi, Sanskrit
(C) Santhali, Hindi, Sanskrit (D) Guyjarati, Marathi, English
YA % dfaue i srsd FgE § srEfea |rst & @8 Tg S ugha |
(A) e, ST, Geepd (B) 3, f&d), weapa

(C) wereft, f&dh, aeha (D) TS, T, iU

The circle that divides the day from night on the globe is called —

(A) Circle of illumination (B) Equatorial circle

(C) Elliptical Orbit (D) Summer Solstice

Tra T a8 g4 S fe vd v i fanfia e 2, waerd 2 -
(A) wdfed ga (B) smead™ 9a

(C) Eefgarpray (D) IR AT

Katabatic winds blows from —

(A) From Valley to Mountain (B) From Mountain to Valley
(C) From Sea to Land (D) From Land to Sea

3aiE ga- yafed gt 8 -

(A) HId B udd Hl T (B) udd & 91d) & E %’ﬁ
(C) Yz % T hl TF (D) TS ° Ul WE
Approximate Extension of the shadow zone of S-wave is —

(A) 105°to 145° (B) 105°to 105°

(C) 145°to 145° (D) 90°to 90°

S~TT % BTAT &7 Bl ferar o 8 —

(A) 105°% 145° (B) 105°® 105°

(C) 145°F 145° (D) 90°F 90°

On which beach is Kayal located ?

(A) Malabar Coast (B) Konkan Coast

(C) Kathiawar Coast (D) Coromandel Coast

Fared fra ae m i 8 7

(A) WTETER T2 (B) iU e

(C) IS @ (D) HIHSA a2

Batholiths, Lacoliths, Lapolith and Phacolith arc related to

(A) Earthquake (B) Volcano

(C) River (D) Gravitational force
duifay, eepifery, duifery a Seifay awafug &€ -

(A) YHW T (B) SaTcTEt @

(C) @ (D) TEcaTHY o T
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103, Which statements about the “Faience™ are true ?
(I)  Faience mines have been found in Mehrgarh.
(I) Faience were found naturally.
(ITI) A gum was used to shape sand or powdered quartz into an object.
(IV) The objects were then glazed, resulting in a shiny, glassy surface.
(V) Faience was used to make beads, bangles, earring and tiny vessels.
(A) LII I (B ILIIL IV
(C) ML, Iv,V (D) 1V, V.1
W AR Y e we d 7
() W3 wgH e | fircht 2 |
(1) o= SIThfaeh o o aTe 91T & |
(L) =Te] a1 Thieeh Te2t % o1 i 7iie & fierment 378 aqd s=rs st off |
(IV) 35eh 91¢ 3 T30 T U Tt uae Sers wret oft |
(V) W1 & Wk, Freal, FH AR B T4 FAC I1d ¥ |
(A) I 1L, I (B) 1L I, TV
(Cy ILIV,V (D) IV, VI

104. Which statements are true about Rigvedic period ?
(I)  Soma was a plant. 5
(11} Brahma, Vishnu and Mahesh were the main deities. E’gﬁ‘
(Il Called Sukta or “Well Said™.
(IV) Upanishad and Aryanak texts were composed.
(V) Indra was not the god of warrior.

(A) LI (B) LIV
¢y V.V (D) LV
SRrelfeeh Hid o i hH A FUH TA§ 7

(I) |9 Teh T T |

(1) sram, feso 3 wgwr yq@ 2aen 9 |

(L) & 1 HaeTel, <l aig | siell 7/ o |

(IV) 3ufAue o Aogs 1y = 1 o |

(V) 2 Jg & Y9E <aar &l o |

(A) L1 (B) 1L IV
(C) IV,V (D) I,V

105. Which Buddhist text contains a dialogue between, a king named Avantiputra and a
disciple of the Buddha named Kachchana ?

(A) Deegh Nikaya (B) Khuddak Nikaya

(C) Majjhima Nikaya (D) Anguttar Nikaya

U U1 A 311 §g o ) Fd & fig Gae s A dg uy d 2 7
(A) &b fFwm (B) s FHam

(C) wfsem frpma (D) e faeer
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Which Buddhist text contained a set of rules and regulations for those who joined the
sangha or monastic order ?

(A) Vinaya Pitaka (B) Sutta Pitaka

(C) Ahhid_han‘lma Pi_laka o (D) ) hJataka ) _

SiF B dig T 1 dig w5 A1 AST 3 @A arel @i % fore frmt o ww on
(A) fora foess (B) Hu fies

(C) At fres (D) ST

Which is included in the six school (Shaddarshan) of Indian Philosophy ?
(A) Satyaarth Prakash (B) Vaishesika

(C) Mahabharata (D) Upanishad

W 2o < B: ugfa (vgeel) A mfra 2 7

(A) Fed geRTe (B) <Sifys

(C) wam™d (D) 3ufrg

Who came to India during the Mauryan period as the ambassador of the Greek ruler of
West Asia named Seleucus Nicator ?

(A) Fahien (B) Xuan Zang

(C) Itsing (D) Magasthenes

ufgem Tfvrn < A T Hogehd FHehet o TSigd < % H Hideid § WA S 3 ¢
(A) HIETH (B) v =@

(C) sfeam (D) BRHTS E

State the complete true statements about Arikamedu.

(Iy  TItis located in Puducherry.

(I1)  Arikamedu was a Coastal settlement.

(TIT) Other finds include pottery such as amphorae.

(TV) Items related to the Greek Empire have been found here.
(V) The kings here were Chera Dynasty at that time.

(A) I, 11, 111 (B) LIV, V
IV, V, 1 (D) V, IV,
Hﬁﬁﬁg%%@ﬂ@www|

() g ygad 4 feya ur |

(1)  Afeerig mewagol T o |

(1) =&l U S e et € |

(IV) 98T o AT wrr=a & weifera aegd fire € |
(V) T&f < Tr=1 =7 9t & |

(AYy LI I (By IILIV,V

(C) IV.V,I (D) V.IV,I

The Chinese Pilgrim ‘Xuan Zang” lived in the court of which King ?
(A) Chandragupta (B) Samudragupta

(C) Harsha (D) Kanishka

At defaEh “sdm T R TS S e TR Y ¢

(A) == (B) HHATA

(©) =& (D) &=
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In which play we find an interesting deseription of the plight of a poor fisherman in Gupta
period ?

(A) Harshcharit (B) Abhigyan Shakuntalam

(C) Mudrarakshasa (D) Mrichhakatikam

I & e T H BIA § U TS AP 6 1 TThHATE  GHagR 1 a1d Hal g 8 ¢
(A) evafE (B) af¥rem wrehaery

(C) TZFIeT (D) TeHhiehn

Where is the temple of “*Bhitargaon™ situated ?

(A) Uttar Pradesh (B) Bihar
(C)y Orissa (D) Bengal

“firaeia” =1 Afct Hal v R 8 7

(A) ITT (B) fogm

(C) I (D) &

By what name are the teachings of Shankardeva who was the main propagator of
Vaishnavism, addressed in the late fifteenth century ?

(A) Vallabh Dharma (B} Krishna Dharma
(C) Guru Sandesh (D) Bhagavati Dharma

USgdl Iaedl & Iy H Wehted, S dIG G 6 g&T YENE U,  IUCl Hi fh9 A U
weitfer fepenn s 2 7

(A) doay o (B) o g %ﬁ%
(C) o (D) et e

What was Khud-kashta and Pahi-kashta in Mughal period ?

(A) Typesof Revenue (B) Types of Crops

(C) Types of Administration (D) Types of Farmers

TETshTc | Geehtvd d TifEehied #1937

(A) TSFE $ THR (B) HHeAl o FhR

(C) e % JHR (D) frami & gHr

. What was the relation of “Manzil-abadi”, “Sipah-abadi” and “Mulk-abadi” during the

Mughal period ?

(A) Part of Book (B) Portion of the Population

(C) Part of Revenue (D) Part of Administration

PTetehlcl 4 “Aiaer-ATE1E ", “faag-3mardl” a “qesh-31ardl” &1 gay fhag o1 ¢
(A) T % U (B) SHEEAT % AA

(C) T & 9 (D) TSITHA % qT

Who got the book published under the name “Stripurushtulna™ ?

(A) Tarabai Shinde (B) Pandita Ramabai

(C) Jyotirao Phule (D) Rashsundari Devi

‘wigEagerT A1 § T forem weifea g ¢

(A) s fiie (B) ufear wraré

(C) waferra B (D) Trorgedt gt
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When was the parallel government (Prati Sarkar) established in Satara, Maharashtra ?
(A) 1941 (B) 1943
(C) 1945 (D) 1947
HEMAIS oh AW A GHHTA GehR (9 Btenr) Y wra=n e i s ?
(A) 1941 (B) 1943
(C) 1945 (D) 1947
Which word is not given in Preamble of the Constitution of India ? i
(A) Belief (B) Faith Ejﬁ%*
(C) Worship (D) Language EREL:
I b Hfaer sl 3efiren o i a yieg 48l fearman g 2
(A) Tavam (B) =H
(C) JHTEAT (D) o1

When was Street Vendors (Protection of Livelihood and Regulation of Street Vending)
Act came in force in India ?

(A) 2010 (B} 2011
(Cy 2013 (D) 2014
w0 w2 fashar (SHfeaes wveor 3 vy fespa Tafremm) sifufam e @y gan 2
(A) 2010 (B) 2011
(C) 2013 (D) 2014
“The Idea of Residual Powers” provision in India is adopted from which Country’s constitution ?
(A) British Constitution (B) United States Constitution
(C) French Constitution (D) Canadian Constitution
“yrafive wifsaai =1 faga’ <61 yrayE wia O e 2w & gfaum o fammn @ 7
(A) Tafew dfaem (B) 3rfient & dfaum
(C) P = Hfga™ (D) TSI & HiaaHA
What is Patelya, Bichhiyo, Lalar, and Machar ?
(A) Famous songs of Mewar (B) Famous songs of Marwar
(C) Famous songs of Mewat (D) Famous songs of Hadoti
, Sifea, een 9 AT E 7
(A) waTS % gfag ia (B) TTETS = ufdg Tia
(C) Tam  ufig 1ia (D) BN % ufg e

“Social Science as a general term for all the sciences which are concerned with the human
affairs.” This is defined by

(A) Seligman (B) Mitchell

(C) Fairchild (D) Peter Lewis

“graTforeh fasm 3wt fasml & foro we wmr=r vreg % %9 8 S aHa Ae @ Feid &

a5 ufofae fopam man 2

(A) WP g (B) Tzt g

(C) HIARETS gl (D) e wifem gr

Which of the following is an Audio — Aids ?

(A) Linguaphone (B) Over Head Projector (OHP)
(C) Epidiascope (D) Bulletin Board

fom 3 @ e o e w2 7

(A) TR (B) 3HaiEs UieiEe

(C) o foramess 5 (D) geife «ie
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124. Which one is not a type of project method given by Killpatrick ?
(A) Constructive Project (B) Destructive Project
(C) Problematic Project (D) Practice Project
3 | B 91 U fherifees gro fear man afEiemn < wer i 2 7
(A) TSI TS (B) feedwes ufigsrn
(C) THETHS TERHT (D) AT TR
125. Who propounded the linear programmed instruction ?
(A) Norman A. Crowder (B) B.F. Skinner
(C) Thorndike (D) Thomas F. Gilbert
Wi st ggyH %1 wfares feea e ¢
(A) ATHT T, FHI3ST (B) 1.k, ThHiM
(C) uieE® (D) iy %, fieed
126. Which one is not a limitation of assessment ? En
(A) Lack oftime Eﬁt‘
(B) More importance to the competition i
(C) Conceptual error
(D) Freedom from fear and stresstul environment
T i O UF heE HI G AE 2 7
(A) GaF i FHHt (B) wfereei =1 iferes vaw
(C) HeheuTeH Afe (D) A wd draf ot 8 qft
127. Which one is not prerequisite of lesson planning ?
(A) Knowledge of subject
(B) Knowledge of learner family background
(C) Knowledge of child psychology
(D) Knowledge of methods and techniques
I ©i Uk UTS A1 hi @i g 2 ¢
(A) Towa =1 3 (B) rfermoemal <6l aritatess eyl & 9H
(C) Tl HITeTH 1 5 (D) Taferat (foeqor) wa aa-fihl <61 1
128. Which one of the following is correctly matched ?

(A) Socrates — Instruction method

(B) Plato — Questioning method

(C) Herbert Spencer — Dialectic method

(D)  Aristotle — Deductive and Inductive method

fr i 8wl vk wdt gifaa 2 ¢
(A) U — Fréee fafy

(B) w2l — vy fafyr

(C) & -5 — Famg fafy

(D) 3 — WA 3R e fafe
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129. Which one is not a general objective of teaching of social studies ?

(A) Acquaintance with the environment

(B) Interest in socio-economic institutions

(C) Appreciation of cultural heritage

(D) Appreciation of caste system

I W1 Ueh [T 1A {912 1 amr= 329 e 8 7

(A) TTeTor B witfad g (B) wmTfoeh-31fides weuri & w4

(C) wrepfaes farea &t wus (D)  SAfd-gm =l w9
130. How many steps are suggested for solving a problem ?

(A 2 By 3

(C) 5 (D) 7

T % THUH % o foras =it =5 ggma femmn g ¢

(A) 2 (B 3

(C) 5 Dy 7
131. From which layer of the atmosphere do radio waves come back ?

(A) Stratosphere (B) Mesosphere

(C) [lonosphere (D) Exosphere

e qui argrse <t fofe v o 9w i § ¢

(A) HHdT Hee (B) Hed Hgd

(C) H Hed (D) T’ HsdA Qﬁ%
132. Which of the following cyclone is called water spouts in sea ? =5

(A) Typhoons (B} Hurricanes

(C) Willy-Willies (D) Tornado

01 3 3 Fora =eheTa @1 BIE W S WY HEd 8 7

(A) TEEA (B) &

() faeh-faeit= (D) SRS
133. Which of the following currents are cold currents ?

. Labrador current 2. Oyashio current

3. Benguela current 4. Alaska current

(A) 1,2,4 (B) 1,2,3

(C)y 2,3.4 (D) 1,3,4

frafefiaa amsti 4 @ 25 @ 36 amd & 7

[. <SSR Um 2. ArnfyEr aw

3. e am 4. HETEH U

(A) 1,2,4 (B) 1,2,3

(C) 2.3.4 (D) 1.3.4
134. During the time of perigee the tidal range is —

(A) Equal to normal (B) Less than normal

(C) Greater than normal (D) None of these

I % T SR A B8 -

(A) HMETY % S (B) HMHEI Y A

(C) W= 4 3fun (D) 4 @ I3 78
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135. Match the following forests and trees :

Forest Tree
(1) Tropical Evergreen (a) Spruce
(2) Tropical Deciduous (b) Palm
{(3) Montane (¢) Mahogany
(4) Mangrove (d) Sal

m @ & @
(A) (d () (@ (b
(BY () (@ (b) (a)
) (© @ @ (b
(D) (a) (b) (c) (d)
Frafafad a4 va gai =i gufaa Hifsu -
9+ B
(1) Sorspfea gemegr  (a) T
(2) Iwrsfeetiy midt  (b) 918

(3) T (¢) WENH
(4) e (d) W=

m 2 3 @ s
A @ © @ O =4

B) () ) (b) (@)
(C)y (© (d (a) (b)
(D) @ (b) (c) (d)

136. Which of the following is a group of Iron ore belts in India ?
(A) Singbhum (Jharkhand), Bailadila (Chhattisgarh), Nellore (Andhra Pradesh)
(B) Kudremukh (Kamataka), Mayurbhanj (Odisha), Bokaro (Jharkhand)
(C) Bokaro (Jharkhand), Bailadila (Chhattisgarh), Mayurbhanj (Odisha)
(D) Mayurbhanj (Odisha), Singbhum (Jharkhand), Bailadila (Chhattisgarh)
frafefiga & 9 9 1 uwa § <ig ses ifemi wragg @ ¢
(A) Toaym (3m@s), Safsan (Sdmme), Jeai (Y Ie)
(B) 3@ (Flesh), wqoid (ifean), Sl (smes)
(C) EhRI (ANEE), SAnSal (JeETR), TE (Afeem)
(D) g (aftfeem), iz (smis), serfeen (sdamg)

137. In which direction the Aravalli range extends in Rajasthan ?

(A) South-East to North-West (B) North-West to South-East
(C) South-West to North-East (D) North-East to South-West
TSRAM T e Teiaurer ford foum 4 forga 2 2

(A) efemr-ud & se-afream (B) Ia-ufvam & eferm-gd
(C) efu-ufvaw @ sm-d (D) IW-gd U gferor-afeam
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138. Match the following district and climatic regions :

District Climate region

(1) Jaisalmer (a) Extreme humid
(2) Jaipur (b Humd
(3) Sawai Madhopur (¢) Semi-Humid
(4) Jhalawar (d) Dry

Mm @ & @
(A) (©) (b) (2 (d)
(B) (d) (c) (a) (b)
) d (b @© (@
D @@ ) b @
Fefafaa [ va sierery 9ewi 1 gafad i ;

Torem EEEIR B

(1) S (a) -2
(2) AR (b) I
(3) TS AT (c) -3
(4) HIAETS (d) I=b

m @ & @
(A) (¢) (b) (a) (d)
(B) (@ () (a (b
€ @ ® © @
(D) ) () (b)) @

139. Which of the following are correct statements with reference to district and projects ?
(1)  Chittorgarh — Rana Pratap Sagar Dam https://www.pyqonline.com
(2)  Ajmer — Bisalpur Project
(3) Udaipur — Mansi Vakal Project
(4) Pratapgarh — Jakham Project
(A) (1), (3). 4 (B) (1).(2).(3)
C) (2).0). 4) (D) (D, (2). &
fSen we aieiem & g # Fifefea s a SR o s o 8
(1) faxiteng — Ton yam arw sty
(2) ISR — SEeryE TS
(3) IAT — A drehet TR
(4) YATRIE — JAHEH TS
(A) (1), (3), (4) (B) (1),(2),(3)
) 2.0).4) (D) (1), (2), (4)
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140. In which Crops Rajasthan is the top producer in India ?
(A) Mustard, Chickpea, Dewgram
(B)  Psyllium husk, Cumin, Cluster bean
(C) Chickpea, Green gram, Black gram
(D) Green gram, Maize, Pearl Millet
for1 Buetl o ITUTEA T TSR 1 YR 0 999 TJH 8 7
(A) TTEI, =1, ATS (B) SHaA, ST, SO
(C) =1, 11, 3353 (D) 311, HeHT, ST
141. During 2001-2011 Population growth rate of Ganganagar district is —
(A) 10.0% (B) 16.9%
(C) 325% (D) 21.3%
2001 & 2011 zrafy % g i faat H saen afg e -
(A) 10.0% (B) 16.9%
(C)y 325% (Dy 213%
142, Which ruler of Mewar was given the name of *“Vishamghati Panchanan’ ?
(A) Rana Hamir (B) Rana Lakha
(C) Rana Kumbha (D) Rana Udai Singh
“fermeTé) YA <hl G WaTS % fohY I i af 7S o) 7
(A) T gHER (B) TvIT ARGl Qﬁ%
(C) T T (D) TN 3eFf4E Erk:
143. Who was the Maharana of Udaipur at the time of revolt of 1857 ?
(A) Jaswant Singh (B) Swaroop Singh
(C) Udai Singh (D) Ratan Singh
1857 <hl shifd  HHI IGIYL = HFWIVN HH & 7
(A) SEadfdg (B) ww@Eqiag
(C) 3Igaleg (D) TaHfdg
144. Where was the third session of “Rajputana Madhya Bharat Sabha™ held ?
(A) Nagpur (B) Jaipur
(C) Ajmer (D) Delhi
“TSGAHT T WA N1 <1 e 3ifera= shal wgan ¢
(A) AFTE (B) ST
(C) = (D) feeeht
145. Who was made the Prime Minister of Greater Rajasthan ?
(A) Haribhau Upadhyay (B} Gokulbhai Bhatt
(C) Hiralal Shastri (D) Tikaram Paliwal
“Sad TSR o1 SUHEE fhd s man o
(A) TS ST (B) TiispeTwTs ug
(C) ettt wret (D) S dreftare
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146. Who is known as “Banasur ka Shaheed” ?

(A) Kesari Singh Barahath (B) Major Saitan Singh
(C) Pratap Singh Barahath (D) Havildar Major Piru Singh
“HIVITER b1 I1EYE” =0 & i A1 W safe St sar g 7
(A) hulifiz anEs (B) TR IaMidE
(C) Jamiie anEs (D) FaeTER R fefig
147. Who built Churu Fortin 1739 ?
(A) Jaswant Singh (B) Rai Singh
(C) Kalyanmal (D) Thakur Kushal Singh
5 gl i i 1739 ¥ fohsd samn 7
(A) ShEeafEe (B) vaftz
(C) HeAVHA (D) 3 HIA fag
148. gullsi,}Haalro._ Timaniyan and pot ornaments are worn by women in which part of their
ody 7
(A)y Head (B) Neck %ﬁ%
(C) Hand (D) Waist -
qeret, grerd, faafural aen via e Sy afgenstl g IR % @ 8 9T W U8 91 8 7
(A) fm (B) e
(C) @™ (D) =t

149. Which Film has been made on the book “Duvidha™ by Vijaydan Detha ?
(A) Mumal, Phulwari (B} Alekhu Hitler
(C) Duvidha, Pahehi (D) Uljhan, Suljhan
forerem gen i e “gfaan” Wl fren w1 fmm g g g ¢

(A) TH, e (B) 3reig feeem

(C) gfaren, weedt (D) 3cTeH, GasH
150. “Hela Khyal™ is a folk theatre from which region of Rajasthan ?

(A) Dausa (B) Bikaner

(C) Sikar (D) Barmer

“EEA1 AT AT Aleh A1Y USRI % HiH 8 85 ¥ afud g 7

(A) g (B) e

(C) Hrt (D) T
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INSTRUCTIONS / fadm
(Read carefully and comply / &R & 93 3 rem =i)
IMPORTANT / wrererqei

[

[

. In Section 11 (Language-l) a candidate has to attempt the questions of the language which the candidate has selected as Language-1in the
I Section HIGT anguage-11) a candidate has 1o akcmpt the |.|ug_-.l.iun-. of the language w hich the candidate has selected as Language-1i in the

. The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the preseribed place in the

. The candidate has to answer of that subject in \suuml { I\ .J} Mathematics and Science or (1V b} Social Studics as sclected by the candidate

Online Applicatipn
b e I R

n. I . PR - - - =
AT W F B e A 2w oamn moSaw et 3 owm [ F B9 8 A aaea-ma § e 2

=11 will be different from Language-L
o1 safererme s Fa AT A o A A - 1 A e A -1 i fEm R - s - Enh o

Online Application Form, The Langu
AU UL AT 1) B FH S e e

OMR Answer Sheet, Your OMR Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No., not
Question Booklet '\umber
st

g e Mnsﬁzwﬁarfﬁawﬁmnm i =13 vg iz AT st OMR o2 1 qFuisT
TR mmrg afeF aEm- mﬁ'mmww@m Eﬂfl &1

in the Online Applicaton Form.

If a candidate answers the questions of EhL language or subject other than selected in the Online Application Form, the candidate shall be
personally responsible_for it and it wo |I h.l .m,.j}.u wrong, o

e = 3| WE-TE F avE n'a} a1 (v by amtrE s § 3 fwg & we @ e aen 2, e fam s et
A e aWem-aa 7 femn . o ) _ _
iz werdi aTaE m-ww:mﬁﬂmmﬁmfﬁwmzﬂmqmdmhwiﬁummmm%maﬁ werdi 1w F fEEm

(]

1),

TR AHT Teld HAT AT |
Read complete instructions carefully and fill the details from SL No. | to 7 in the OMR Answer Sheet and 51 No. 1 to 4 in the Question
Booklet. If yvou fail to fill the details and sign as instructed coreectly, vou will be persanally responsible for the consequences arising during
scanning of vour {}\IHAJ]‘-\L&I Sheet.
fun =1 quf w0 & saaaET E A FEE 87 7 OMR ¥R w0 R g 7% vea-giem (FEee) 1 oad | afz am rem a6F § faam
ﬂmmﬁﬂmém(}fﬂkm?tﬁlwﬁﬂawmmwmmwﬁ AT T A B |
The l)m,»‘uc:n Baooklet l,nm]msgs\‘]'ﬁ Pages hay ||]g_ 150 quc'.tican\_ After hcing instructed 1o open the Booklet, only then the candidates will apen
the Question Booklet scals. Check whether the Booklet contains 150 questions starting from Page No. 3 1o 90 The Shift Number required in
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wsA-iETF] 7 96 98 T 150 Wi § | G .er‘fﬂ‘mTWPWH &1 #@ g | a8 _vF'IT"-'-‘J-;T‘?IﬁT-FFI'HHU
usa 3 S T UW W 3 f 0w ';0 g% ¥ | OMR stz w fargz ma -mm A (59 T T F s i wen & vg A
WA - UfEAT & S AW W oA T g 2
All questions are of MCQ (Multipte Choice Question) type. There is only one correct answer to each question carrying ene mark. There
will be no negative marking for wrong answers.
n‘mva-rrwfawq-ramwr | S A v fawe B wd ¥ | wew e T T it dwem # | e e ol werrer ofmn w Fisd i |
All (|u-.~l|0|l- other_ than language 1||u~st|un- of Sections 11 and 111 shall be hlill’l'j.l.ldl
WyA-T % AT wex [ ww 111 % Al 3 91 | WIS T WEA Faul
Inany event of any 111[_'1].'l|\<.'\ inany guestion's, candidates will not be penalized. However ng corrections will be made in question's durmg the examination.
vy 1 Tt s = ford a1 Tedt wepme = et =128 =2m ) e = i1 3 AT 8 T WeRT o AT A AT A |
Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet, Do not tear it off from the
m.-.lull'l Rooklet, No additiopal paper shall be provided.
1 WoFTE O TF T4 2 WA -1 A 8 e A W 2 | 7 e - @ A e, | Famft s Ao s saeen wd e |
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P P, FeFgeed, T T, AEES T, 4, I, ey, WEEEE M fEh g vER @ il 39 4 a w owEm atie
?l?ﬂtﬁ—mq—ﬁ.nq:ﬂmtrrfﬁhmmm?l )
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OMR T2 9 - & |14 WET & AT |
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sl 1 WA -YTEAE] T s B F 10 A 9d AT | A AEyEE ' A OMR iz § A qfafLem T AT WEE AW | WA
qfere i @ T e F <F:a-|-.'~:rq‘?§1‘r=r=1'm:rqm | 4'.ﬁwﬁ|1??a‘r TE T A |m‘r-qﬁ=ﬂnm?-rl:rqaﬁq'ﬁmmm
a4z qiiswa # 5 Zaw_feifs aam 9 8 'FI"‘;IFI?, AT A 2 PE QW # AT Wel A1 A9 ¢ A e AR A2 T2 | Al g
1Erﬁr—r ?ﬂﬂfﬂﬁ?#ﬁ'mﬁqmmnr—r T W | SAE g
anﬁ?%fﬂ'ﬁqimmnﬁ'ﬁ aﬁqﬁhnmﬁwwm
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in the space provided in_the Question Booklet as well as in_the OMR Answer Sheet.
aa-qﬁ%ﬂ Trrl}n\m mztr?hﬂf? TIA W AR, W F F FIE, s, A, v -1 @i e, firee s w na giam
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ZFA T3 1 TR F I AT | R f‘#: H1@ W FR i w09 f I w ) FemaniFae s gmmmatiag
WRONG ( mrewr WROMNE ey WRONG S wyee
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